SPEED & ACCURACY TEST

TEST -1 : ENGLISH LANGUAGE

Directions (1-10) : In the following passage there are blanks, each of which has been numbered. These numbers
are printed below the passage and against each, five words/phrases are suggested. One of which fits the blank
appropriately. Find out the appropriate word phrase in each case.

Information technology, and the hardware and software (1) with the IT industry, are an (2) part of nearly (3)
major global industry. IT industry has become one of the most robust industries in the world. IT, more than any other
industry or economic (4), has an increased productivity, particularly in the developed world, and therefore is a key
driver of global economic growth. Economies of scale and (5) demand from both consumers and enterprises (6) this
rapidly growing sector. The information Technology Association of America (ITAA) explains ‘information
technology’ as (7) all possible aspects of information systems based on computers. Both software development and
the hardware involved in the IT industry include everything from computer systems, to the design, implementation,
study and development of IT and management systems. (8) to its easy accessibility and the wide range of IT
products available, the demand for IT services has increased (9) over the years. The IT sector has emerged as a
major global (10) of both growth and employment.

Q.1. (1) use (2) amalgamation (3) associated
(4) vision (5) regulated

Q.2. (1) integral (2) fundamental (3) increased (4) vital (5) eager

Q.3. (1) most (2) all (3) every (4) few (5) some

Q4. (1) world (2) opinion (3) stature (4) profit (5) facet

Q.5. (1) multiply (2) insatiable (3) decreasing (4) unquenchable (5) unreasonable

Q.6. (1) forage (2) thwart (3) motivate (4) fuelling (5) characterize

Q.7. (1) making (2) qualifying (3) inclusive (4) encompassing (5) trusting

Q.8. (1) Owing (2) Since (3) Catering (4) In order (5) Complementing

Q.9. (1) regularly (2) substantially  (3) minimally (4) exponential  (5) savagely

Q.10. (1) fortune (2) meltdown (3) spring (4) source (5) economy
Directions (11 - 15) : Which of the phrases (1), (2), (3) and (4) given below each sentence should replace the
word/phrase printed in bold in the sentence to make it grammatically correct? If the sentence is correct as it is given
and no correction is required mark (5) as the answer.

Q.11 The actress, who was in the city for the press conference of her dance reality show, says she chose the show
because of her passionate for dance.
(1) being passion in dance (2) Passionate for dancing (3) being passionate indancing
(4) passion for dance (5) No correction required

Q.12. Despite of several representations and reminders, the district administration had not taken any action to stem the
systematic encroachment of water bodies.
(1) Because of  (2) Despite (3) Although (4) Inspite (5) No correction required

Q.13. While it is well-known that there are large-scale leakages from the public distribution system across the country,
EgetLeG aprgonrwany states which have manage successful reform the public distribution system and deliver food grain
(1) managed to successfully reform (2) managed successful reforms
(3) managing successfully to reform (4) managed for successfully reforming
(5) No correction required

Q.14. The four-day workshop is being conducted for gear up administration to the changes that will follow with the
implementation of the Right to Compulsory and Free Education Act 2009.
(1) so geared up (2) to gear up (3) for geared up
(4) to gearing up (5) No correction required

Q.15.  The court refused to provide relieve to the petitioner and stated that plying of all diesel vehicles was banned with
immediate effect.
(1) provision of relief (2) providing of relieve (3) provide any relief
(4) provide relieving (5) No correction required
Directions (16 - 20) : Rearrange the following six sentences (A), (B), (C), (D), (E), and (F) in the proper sequence to
form a meaningful paragraph; then answer the question given below them.
(A) Building of these structures requires a lot of fuel to be burnt which emits a large amount of carbon dioxide in the
atmosphere.
(B) The major source of carbon dioxide is power plants.
(C) Another twenty percent of carbon dioxide emitted in the atmosphere comes from burning of gasoline in the
engines of vehicles.
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Q.16.

Q.17.

Q.18.

Q.19.

Q.20.

Q.21.

Q.22.

Q.23.

Q.24.

Q.25.

Q.26.
Q.27.
Q.28.
Q.29.
Q.30.
Q.31.
Q.32.

Q.33.

(D)Buildings, both commercial and residential represent a larger source of global warming pollution than the said
cars and trucks.

(E) The major cause of global warming is the emission of green house gases like carbon dioxide, methane, nitrous
oxide etc. Into the atmosphere.

(F) These power plants emit large amounts of carbon dioxide produced from burning of fossil fuels for the purpose of
electricity generation.

Which of the flowing should be the SECOND sentence after rearrangement?

ME (2)D @)C (4)B (5) A
Which of the following should be the THIRD sentence after rearrangement?
(1A (2)B (3)¢C (4)D (6)F
Which of the following should be the FIRST sentence after rearrangement?
(A (2)B @®)C (4)D O E
Which of the following should be the SIXTH sentence after rearrangement?
(MA (2)B @) C 4)Db B E
Which of the following should be the FOURTH sentence after rearrangement?
(ME (2)D @)¢C “4)B ) A

Directions (21 - 25) : Each question below has two blanks, each blank indicating that something has been omitted,
Choose the set of words for each blank which best fits the meaning of the sentence as a whole.

The protestswere__at _ awareness among the elite and the educated.

(1) held, generating (2) aimed, creating (3) targeted, awakening
(4) focused, building (5) concentrated, producing

While it is possible to inflation-index cash entitlements and food stamps, the

__ nature of food prices would make it a more difficult process than envisaged.

(1) theoretically, volatile (2) absolutely, stable (3) hypothetically, slow
(4) not, unpredictable (5) notionally, established

The actressis____that she has not only acted opposite her childhood hero but has also ____ out a song and recited a
poem onstage with the living legend.

(1) overjoyed, belted (2) morose, sung (3)ecstatic, written

(4) tense, prepared (5)elated, made

____topopular belief that red meat makes humans ___, scientists have found that it actually has a calming effect.
(1) Dissimilar, happy (2)Opposite, intelligent (3) Contrary, aggressive

(4) Comparable, hostile (5) Sticking, violent

___anearlier judgement, the High Court has directed the state government to identify natural water resources in the
state and ____ all illegal encroachments on them.

(1) Remembering, establish (2) Citting, remove (3) Cancelling, build
(4) Quoting, destroying (5) Furthering, maintain

Directions (26 - 35) : Read each sentence to find out whether there is any grammatical error or idiomatic error in it.
The error, if any, will be in one part of the sentence. The number of that part is the answer. If there is no error, the
answer is (5). (Ignore errors of punctuation, if any.)

Dress in black (1)/ several students from the University took part (2)/ in a protest march in the city on Thursday as
part (3)/ of a campaign against female infanticide. (4)/ No error (5).

On the second day of the workshop, (1)/ participants does a situational analysis of the state (2)/ and spoke about
their plan of action (3)/ for implementing the Act. (4)/ No error (5).

The court has asked the authorities (1)/ to take appropriate steps to restore natural water resources (2) / so that the
problem of water shortage (3)/ in the state can be solved. (4)/ No error (5).

The poor experience in (1)? Neighboring countries which have implemented (2) / food stamp programmers should
serve as (3) / a deterrent on our country. (4)/ No error (5).

The government has warned (1) / that air pollution from vehicles and power stations (2) / is reducing life expectancy
in the country (3) / in an average of six months. (4) No error (5).

Closing the doors to a foreign citizen (1) / seeking employment in India, the High Court on Thursday ruled (2) / that it
is not a foreign national’s fundamental right, (3) / to get an employment visa in the country. (4)/ No error (5).
The High Court on Thursday banned (1) / plying of diesel-run vehicles (2) / including safari cantors in the tiger
sanctuary (3) / with immediate effect. (4)/ No error (5).

A new study has shown that kids (1) / who have a high body mass index are (2) / more likelier to have high blood
pressure, cholesterol and blood insulin levels (3) / by the time they reach adolescence. (4)/ No error (5)
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Q.34.

Q.35.

Q.36.

Q.37

CWE/130/2011

SPEED & ACCURACY TEST

For much of the developing world (1) / historically, environmentalism was seen as a luxury (2) / rather than a
necessaity because (3) / always the development imperatives was seen to be urgent. (4) / No error (5).

The consumer Forum directed the Power Corporation to (1) ? Compensate a complainant for the inconvenience (2) /
and mental agony who he had to suffer, (3) / because of the power officials irresponsible attitude. (4)/No error (5).

Directions (36 — 50) : Read the following passage carefully and answer the questions given below it. Certain words
phrases have been printed in bold to help you locate them while answering some of the question.

The modern world requires us to repose trust in many anonymous institutions. We strap ourselves in a
flying tin can with two hundred other people not because we know the pilot but because we believe that airline travel
is safe. Our trust in these institutions depends on two factors: skills and ethics. We expect that the people who run
these institutions know what they are doing, that they build and operate machines that work as they are supposed to
and that they are looking out for our welfare even though we are strangers.

When one of these factors is weak of absent, trust breaks down and we either pay a high price in safety- as
in the Bhopal tragedy-or a large welfare premium such as the elaborate security measures at airports.
Trust-deficient environments work in the favour of the rich and powerful, who can command premium treatment and
afford welfare premiums. Poor people can command neither; which is why air travel is safer than walking by the road
side.

Every modern society depends on the trust in the skills and ethics of a variety of institutions such as schools
and colleges, hospital and markets. If we stopped believing in the expertise of our teachers, doctors and engineers,
we will stop being a modern society.

As the institution among institutions. It is the duty of the state to ensure that all other institutions meet their
ethical obligations. The Indian state has failed in its regulatory role. Consequently, we cannot trust our schools to
turn out good graduates, we cannot ensure that our colleges turnout well trained engineers and we cannot
guarantee that our engineers will turn out to be good products.

Last year, | was invited to speak at an undergraduate research conference. Most of the participants in this
conference were students at the best engineering colleges in the State. One student who was driving me back and
forth recounted a story about the previous year’s final exam. One of his papers had a question from a leading
textbook to which the textbook’s answer was wrong. The student was in a dilemma: should he write the (wrong)
answer as given in the textbook or should he write the right answer using his own analytical skills. He decided to do
the latter and received a zero on that question. Clearly, as the student had suspected, the examiners were looking at
the textbook answer while correcting the examination papers instead of verifying its correctness.

The behavior of these examiners is not a breakdown of institutional morals, with consequences for the
skills acquired by students. | say institutional morals, for the failure of these examiners is not a personal failure. At
the same conference | met a whole range of college teachers. All of whomw were drafted as examiners at some time
or the other; Without exception, they were dedicated individuals who cared about the education and welfare of their
students. However, when put in the institutional role of evaluating an anonymous individual, they fail in fulfilling their
responsibilities. When some of our best colleges are run in this fashion, is it any wonder that we turn out unskilled
engineers and scientists? If, as we are led to expect, there is a vast increase in education at all levels and the
regulatory regime is as weak as it is currently, isn’t likely that the trust deficit is only going to increase?

We are all aware of the consequences of ignoring corruption at all levels of society. While institutional
failures in governance are obvious. | think the real problem life deeper. In the failure of every day of every day
institutions that are quite apart from institutions that impinge on our lives only on rare occasions. It is true that our
lives are made more miserable by government officials but what about the everyday lying and cheating and
breaking of rules with people who are strangers?

Let me give you an example that many of us have experienced. | prefer buying my fruits and vegetables
from roadside vendors rather than chain stores. To the vendor, | am probably an ideal customer, since | do not bar
gain and | do not take hours choosing the best pieces, instead, letting the vendor do the selecting. The market near
my house is quite busy; as a result, most vendors are selling their wares to strangers. It takes a while before a
particular vendor realises that | am a repeat customer. In such a situation trust is crucial. | have a simple rule: if a
vendor palms off a bad piece whose defects are obvious, | never go back to that person again. It is amazing how
often that happens.

In my opinion, the failure of institutional ethics is as much about these little abuses of trust as anything else.
Everyday thievery is like roadside trash; if you let it accumulate the whole neighborhood stinks.

What is the meaning of the phrase 'palms off' as used in the passage?

(1) steals from (2) hides away from (3) buys quickly

(4) acquires a good price for (5) passages on by deception

Why according to the author, do people repose trust in Institutions they do not know?

(1) The marketing strategies adopted by these institutions make them trustworthy in the eyes of the public.
(2) Many other people before them have done the same thing thus they feel safe.

(3) People learn from the experiences of their richer counterparts who have availed of the services of these
intuitions.

(4) They believe that these institutions have the requisite knowledge and will act only in favour of the general public.
(5) These institutions charge a very high price for the services they provide which leads people to trust them.
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Q.38.

Q.39.

Q.40.

Q.41.

Q.42.

Q.43.

Q.44.

Q.45.

Q.46.

Q.47.

Q.48.

Q.49.

Q.50.

Why, according to the author, is the behavior of examiners a breakdown of institutional morals?

(1) As the institution encourages examiners to give as little marks to students as possible

(2) As the institution is responsible for not encouraging examiners to venture outside the rote process.
(3) As the examiners are told to discourage students from being creative by the institution.

(4) As the institution falls to provide adequate compensation to these hardworking examiners

(5) As the institution does not have information regarding right answers with it.

Which of the following is possibly the most appropriate title for the passage?

(1) Modifications in Institutional Ethics (2) Little Deceptions Add to larger Trust-Deficit

(3) India — A Country Without Ethics (4) Failure of the Government

(5) College — As an institution

Which of the following is NOT TRUE in the context of the passage?

(A) Despite being aware of the fact that clients will not return, fruit and vegetable vendors sell bad good.
(B) Examiners are devoted to their jobs.

(c) Examiners deliberately mark correct answers as incorrect ones.

(1)Only (A) and (C) (2) Only (B) (3) Only (A) (4)Only (B) & and (C) (5) Only (C)
What, according to the author, happens when there is a break down of turst?

(A) Les affluent people have to compromise on quality.

(B) Out wellbeing is compromised.

(C) We pay a higher price for services.

(1)Only (A) (2) Only (A) & (C)  (3) Only (B) & (C) (4)Only (B) (5) Only (A), (B) & (C)
Which of the following reasons, make/s the author an ideal customer to a fruit and vegetable vendor?
(A) He / she remains a regular customer of the same vendor.

(B) He / she does not haggle for prices.

(C) He / she finishes the selection of goods in a short time.

(1)Only (B) (2) Only (B) & (C) (3) Only (C)

(4)Only (A) and (B) (5) Only (A), (B) and (C) are true

Why according to the author, do institutional failures in governance not matter on a larger scale?

(1) The general public does not care about the failures of these institutions as they do not feature in their lives at all.
(2) Such institutional failures are almost non-existent and do not occur often to matter to the public.

(3) These intrude in our lives only under exceptional circumstances whereas the everyday lied contribute to much
more.

(4) These are a part of everycountry's problems and are taken with a pinch of salt by the public.

(5) These institutional failures do not hamper the functioning of the country in any manner and are hence less
important.

Directions (44 — 47) : Choose the word/group of words which is most similar in meaning to the word group of words
printed in bold as used in the passage.

OBLIGATION

(1) responsibility (2) dependability (3) compulsion (4) debt (5) force
EXPERTISE

(1) proficiency  (2) authenticity  (3) inability (4) power (5) reality
PREMIUM

(1) monetary (2) extra (3) biased (4) finest (5) demarcated
RECOUNTED

(1) distinguished (2) recalculated (3) narrated (4) remembered (5) communicated

Directions (48 - 50) : Choose the word / group of words which is most opposite in meaning to the word/group of
words printed in bold as used in the passage.

REPEAT

(1) copied (2) original (3) new (4) duplicate (5) replicated
UNSKILLED

(1) civilized (2) enlightened  (3) amateur (4) trained (5) cultured
MISERABLE

(1) despondent  (2) energetic (3) dynamic (4) vigorous (5) joyous
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geTgen — Il : AT Feadr

U51. B 8 # dead § FrefolRed § 9 59 488 W 93 1d dgrerdr wWad o Ruic uwgd 31 18°
(1) BOFORS raT (2) gg fawHl @1 @lie (3) 251 WagH BT AMdcH
(4) IDAI T T34 3R SH®! TRl R = (5) Sugad at
U52. SRIGRI H BUl WaRI & ATAR JHARBI 3R Bg 3 QI ..o H TRl Tl U BRE B IR B TATA]
BT qHIT PR @ 2|
(1) faza =MUR e (2) fawg §& (3) SRS HaT By
(4) g T GReaT ARy (5) 379 & PIg &I
U453  9RA & faw w41 7 g B ¥ w9, IRA IR I & 9= v ey Soa § vra @1 ufafifte foar g8 Sow
............... H AT B TS oY |
(1) 93 faeell  (2) A (3) gg ™ (4) fSTT (5) Hc drewdat
gs4. frHfRad § | SF A1 YA STATERellel 8% 9d Jdd R=jeiel 2 &I S§avd el &f
(1) Il I g (SFEREIAR) BT e (2) ere=t # g FHEe e
3) T BT ATH UIST SUTRT BRI (4) |rESITD GRIET B dEd% GiOETg U] I
(5) T T AfFTAT BT 100 &7 BT AR IUSALT BRI
gs55.  fadr @uaeE 9eM & fog dai grr frefalad § | o |1 a¥iel =T 4T 2°
(1) Rergers taw (2) Sexe dfdT (3). faora Hrautee
(4) ®raRe dfeT (5) 394 A DIz -Tel
U56.  fHIRIT § I B TRlTHed UHT §fh T Tl & fordsd d8d bl % @1 fodl aafaad @ 9@ @ 5 9
fafdre 1T @I e H= S fHe SRR Ufedtd ATHR (BMSUial) # e &=+ & fog wftregd favar o 272
(1) RTGS (2) ASBA (@) g@ Hfeafda (hwss) @@w
(4) SCSBs (5) ST & B &I
U57.  ARAI Rod d6 7 BT H 8 HRd RBR Bl AATE < b g8 U I3l Wiel 3R e B | 37d dfbT 3fR
fadT &3 IR @7 IR TSIAT?
1. 99TR # TARY BT Hhe B BT
2. 399 9% wRAg Re/d d& |/ T HF T
3. GERWIfT H B4l QI |
(1) ®aeT 1 3AR 2 (2) ®ad 2 (3) ®aa 2 3R 3
@) 1, 2 3R 3 <f=r (5) STH | Bz &I
g58.  USAGIR SfErer SIfvam 7 8Tel H Udh Had ATIR FHSIKT TR SWIER [hY | A 9 QM1 Q2 DI a7 ST BRTT?
1. S SHRPT ST =78 S =3l BT AT PR FDHT |
2. S SMRGI ¥ ST IRAT BT Fafd g |
3. SERT I Bl YA Al Sld a1¢ Y@ H #ag Ao |
(1) ®aet 1 (2) ®adt 2 (3) ®aet 1 IR 3 (4) Hadt 2 AR 3 (5) IAH | BIS Fal
us9. frafoRed § 9 fod aRdg dsfica Raams 7 5 Bigd gabEd, dMa: — oI=1g MU+, REMgR &,
SR 3MUH, HHATde Tl AR BTG 399 H Siid giad &I 87
(1) |TEAT @A (2) dAT e (3) ATl STl (4) UV UUe  (5) U SMERO
760. UNESCO gRT 394 ¥ &I w7 3mars faar Srar 27
(1) BfRT REBR (2) SIPR REDBR (3) H gIR REPR
(4) gfeloR R (5) ST | DI &I
U6l PO FAR XSS T D TEIHA BT ISR FATT © |
(1) SsSrar (2) Blc® HERTE (5) 3rier g
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TEST - Il : GENERAL AWARENESS

Q.51.

Q.52.

Q.53.

Q.54.

Q.55.

Q.56.

Q.57.

Q.58.

Q.59.

Q.60.

Q.61.

The report of the comptroller and Auditor general (CAG) on which of the following issues was presented
in the Lok Sabha recently?

(1) BOFORS Deal (2) Purchasing of Fighter planes (3) 2G Spectrum Allocation
(4) Constitution of UIDAI and expenditure on its activities (5) All of above

As per newspaper reports, USA and many other countries are supporting India‘s bid for a permanent
seat in

(1) World Trade Organisation (2) World Bank (3) IMF
(4) UN Security Council (5) None of these

The External Affairs Minister of India recently represented India in Russia, India and China trilateral
meet. The meeting took place in

(1) New Delhi  (2) Moscow (3) Wuhan (4) Beijing (5) Saint Petersburg

Which of the following is not an objective of the Jawaharlal Nehru National Urban Renewal Mission?
(1) Development of urban infrastructure

(2) Inclusive growth of cities

(3) Provide safe drinking water to all

(4) Provide improved public transport

(5) Provided 100 days employment to all eligible persons

Which of the following is introduced by banks to increase financial .inclusion?

(1) Stimulus package (2) internet Banking (3) Business correspondent

(4) Corporate Banking (5) None of these

Which of the following is a type of banking application which authorises a bank to block a specific sum of
money in an individual’s bank account to be invested in an Initial public Offer (IPO)?

(1) RTGS (2) ASBA (3) Prefunded Cheques
(4) SCSBs (5) None of these

The Reserve Bank of India recently advised the Government of India to spend and loosen the strings of
its purse. How will this benefit the banking and finance sector?

(A) It will ease liquidity crisis in the market.

(B) It will help banks borrow less from the RBI.

(C) It will bring down inflation.

(1) Only (A) and (B) (2) Only (B) (3) Only (B) and (C)
(4) All (A), (B) and (C) (5) None of these

The USA and South Korea signed a free Trade Agreement recently. How will these agreements help the
countries?

(A) This will enable USA to import as much goods as it wishes.

(B) This would increase the US exports to South Korea.

(C) This will help both of them to maintain balance of payment in order.

(1) Only (A) (2) Only (B) (3) Only (A) and (C)

(4) Only (B) and (C) (5) All (A), (B) and (C)

Who amongst the following Indian badminton players won 5 finals i.e. Chennai Open Singapore Open
Indonesian Open commonwealth games and Hong Kong Open in 20107

(1) Saina Nehwal (2) Chetan Anand (3) Jwala Gutta

(4) Aparna Popat (5) Anup Sridhar

which of the following awards is given by UNESCO?

(1) Kalinga Prize (2) Oscar Award (3) Man Booker Prize
(4) Pulitzer Prize (5) None of these

Kiran Kumar Reddy has taken over as the new Chief Minister of

(1) Orissa (2) Karnataka (3) Jharkhand

(4) Maharashtra (5) Andhra Pradesh
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U62. T I B IS & Y3 9IRT WRBR §RT (AT F9 F T el | TR & Il 3R <2 F AR
T g WR B GIRA &I gfte I 721 @ T8 P
(1) MRT WHR (2) U=l (3) YLTHAT U AP IToTT
(4) TRYSEM (5) 3T 31~ TSIl
7.63. Hlmﬁ|e|c4|aﬁgﬂdléwﬁﬁ?mﬁméﬂﬁaﬁwéﬁzﬁmwwﬁwmgmﬁﬁmﬂﬁ
.................... |
(1) faffma &= (2) Aifafre =refaer rgurd (3) el Rfgra S o
@) 9% <= (5) =IToT &%
U64. ST UYSY H HEIETR H ER B @I I & forg FferRad # 9 {5 ER1 @ Sue B ergAfa €1 TS 27
(1) 3R (2) <e=@rT (3) eI SFS HISHT HUHl
@) < fosd (5) STaHe He ¢ BuHl
65  WIwl favd $9 2018 f=ferRad # & fhd < # marfora favam Sirgem?
(1) v (2) ST (3) ot (4) BT (5) Scolt
U66. Bl B H BT H 193 T T g4 A b9 AHSI WX SR 1$hy?
(1) STefary |Hsiar 2) BH TS W AT ATIR FTS- FHSIT
(3) geu ffRa ufesar v OPEC &1 |wsitar (@) 91 S Udel W favd d& &1 FEsiar
(5) 577 1 BIg el
U67. SIG Yo [rEIRGd H I fhd W SR Sl 87
(1) BN ST (2) I HieT (3) ATeT SUTEA
(4) Breal iR gadt Yolel gRT yad giaemdi o) (5) Sugaa # | A
U68. 2007 W 2012 IF @1 UFTHT AOTAT e Taqur Irorr 87
(1) ewrdi (2) vaREdT (3) aREd (a) =t (5) WA P Ao Ay E |
7.69. CbQ\IHGI*\rIHI,%HIc'SIGﬁQTWQ%EW s‘-r%ﬁ'«rwﬁa?ﬁaﬁ .................. ¥ 310 e & oIy ST I @ |
OREE (2) @ (3) arfe @) gFeRar (5) <Torfa
7.70. WWﬁW@ﬁ%sﬁﬁwﬁTAPlﬁvulgwlsﬂ?ﬁrmmq fhar 81 399 & &9 A1 <91 TAPI
aRETST # TR T 27
(1) wRa () g (3) SHIRT
(4) arfear (5) SUgad TRl <7 g9 R # wfye e ®
71, 8 ¥ B AT QI O — 20 B GG TEl 87
(1) <féror SIRAT (2) ST 3) A= (4) g wa. © (5) =
972, OF fImERll &d & # IR 3 AT IE W A I J fhd <o w77
(1) w4 (2) =feror SIRIT (3) MU (4) == (5) foga=m™
U73. SXP P Bl @) oG el & R § frEffRad §# 4 B 91 / 9 bUd gl g /87
1. Y — 37 — AfTd F T & Y YIHA & BU H YSHR AHT form 2|
2. 3mffes TfAfAfeRl @1 R A g% w1 & forg WRfNe doic & w9 § JUAT 7 JUA. SfeR 60000 BRI B
IR U BRI &1 [ o 2 |
%gcm RIS IS o BB <20 D RIelb U AT=TRS Rbrad aof B & T8I+ §8 99 Usel 3P UR EH
AT |
(1) ®aet 1 ) ®ad 2 (3) daet 1 3R 2 (4) 1, 2 R 3 T (5) I79 A PIg &
g74. freafolRed #§ 9§ o9 9§ s @I A19d [REBR T8 fHer 27
(1) SIRE™ UHg® (2) SR\ o (3) fraaTfaat gt
(4) drys. Srdia (5) s <wre
v.75. sﬂﬁﬁaﬁ?wwﬁﬁwmésﬁﬁm%mﬁm‘m@umsﬁﬁwwuﬁﬁ@aﬁm
()Wﬁ?ﬂﬁﬁn‘ (2) arsgw qfear (3 ) oIl oot (5) Sera ot
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SPEED & ACCURACY TEST [ 9)

Q.62.

Q.63.

Q.64.

Q.65.

Q.66.

Q.67.

Q.68.

Q.69.

Q.70.

Q.71.

Q.72.

Q.73.

Q.74.

Q.75.

Which of the following schemes was NOT launched by the Government of India specifically to remove
poverty in rural areas and improve the general living standard of the people in India?

(1) Bharat Nirman (2) Panchsheel (3) Pradhan Mantri Gram Sadak Yojana
(4) TRYSEM (5) Antyodaya Anna Yojana

The rate of interest charged by RBI for lending money to various commercial banks by rediscounting of
the bills in India is called

(1) Exchange rate (2) Statutory Liquidity Ratio (3) Cash Reserve Ratio
(4) Bank Rate (5) Interest Rate

Which of the following diamond mining companies has recently got a permit to explore Diamond at
Mahabubnagar in Andhra Pradesh?

(1) Alrosa (2) Debswana (3) National Diamond Mining company
(4) De Beers (5) Diamond Trading Company

FIFA World Cup 2018 will be organized in which of the following countries?

(1) Russia (2) Germany  (3) Brazil (4) France (5) ltaly

Which of the following agreements got signed by 193 countries recently in Cancun?
(1) Climate Agreement

2) World Trade Organisation Agreement on Farm subsidy

3) OPEC Agreement on Pricing Mechanism

4) World Bank’s Agreement on bailout packages

5) None of these

Excise duty is levied on which of the following?

~ o~~~

(1) Agro products (2) Imported goods (3) Manufacturing of goods
(4) Services provided by hotels and travel agents (5) All of these

The five year plan 2007 to 2012 is

(1) Tenth five year plan (2) Eleventh five year plan (3) Twelfth five year plan
(4) Ninth five year plan (5) There is no such plan period

Karim Benzema, Ronaldo and Gonzalo Higuain are three names famous of their performance in the field
of

(1) Cinema (2) Sports (3) Literature ~ (4) Journalism (5) politics

US welcomes TAPI gas pipeline agreement was the news in some newspapers. Which of the following
countries is not a partner in TAPI project?

(1) India (2) Turkey (3) Afghanistan (4) Pakistan (5) All are not part of the project
Which of the following countries is NOT a member of the G-207?

(1) South Korea (2) Brazil (3) China (4) USA (5) Iran

When Jiabao was recently on a state visit to India, he is from which country?

(1) Russia (2) South Korea (3) Japan (4) China (5) Vietnam

Which of the following is/are true about the recent political developments in Iraq?
(A) Nuri-al-Malik has taken over as the new Prime Minister of the country.
(B) USA has decided to provide US$ 60, 000 crore as initial budget to restart the economic activities.

(C) UNO has Registered a formal complaint against few countries who invaded Iraq jointly few years
back.

(1) Only (A) (2) Only (B) (3) Only (A) and (B)
(4) All (A) (B) and (C) (5) None of these

Who amongst the following is not a Nobel Prize winning author?

(1) Orhan Pumuk (2) Doris Lessing (3) Octavio Paz

(4) V.S Naipaul (5) Anita Desai

Who amongst the following is a famous Badminton player and has represented India is many
international events?

(1) Sania Mirza (2) Baichung Bhulttia (3) Aparna Popat
(4) Dhanraj Pillay (5) Ishant Sharma
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Y.76. ﬁwﬁﬂ%ﬁ?wqﬁﬁwﬁﬁméﬁ?%m@m$ﬁ%ﬁﬁw¢ﬁé¥ﬁ$mw
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(1) e BT d% (2) TS (3) <MT 1 3R 2
@=dr192 (6) STH | DI =T&l
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(1) TSR (2) STSIeMR (3) TASIBIR  (4) SR (5) T W DG LN
7.82. ﬁwﬁsﬁﬁ?ﬁ%ﬂuwwﬁﬁwﬁmgw%ﬁ?mm@wwﬁﬁwwwﬁﬁﬁﬁwm
B 7 |aﬁﬁwgﬁ£%ﬁﬁéﬂmﬁﬁfﬂmmmﬁa§wﬁﬁmﬁﬂﬁmzﬁw arferrgor ¥
AeTH
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OREEIRED (5) 378 &1 ®Ig Tl
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Q.76.

Q.77.

Q.78.

Q.79.

Q.80.

Q.81.

Q.82.

Q.83.

Q.84.

Q.85.

Q.86.

As per report published in various news papers many banks are presently recruiting large number of
\t;\l/JSiEgSS correspondents in terms of RBI instruction for financial inclusion. What would be their nature
ork?

(1) It provides credit report to individual

2) It would provide basic banking services to rural population.

3) These persons would approach customers for larger business.

4) Persons recruited would do market survey in rural areas to explore business potential

5) None of these

The amount of the funds that the banks have to keep with RBI is

(1) Cash Reserve Ratio (2) Reverse Rope Rate (3) Rope Rate

(4) Base Rate (5) None of these

Many banks are selling new products to existing customers of the basis of their past purchases. This
process is called

(1) Door to door banking (2) Parallel Banking (3) E-Banking

(4) Cross Selling (5) None of these

For improving its CASA (Current Account Saving Account) ratio, which of the following banks has
announced to remove charges and award relief measures for its customers?

(1) HDFC Bank (2) ICICI Bank (3) IDBI Bank  (4) Axis Bank " (5) None of these

As per the reports published in some major news papers, the government has given a rethought of its

plan to buy the Reserve Bank of India’s stake in two financial institutions -NABARD and NHB. Out of
these two banks is fully owned by RBI?

~ o~ o~ o~

(1) National Housing Bank (2) NABARD (3) Both (1) and (2)
(4) Neither (1) nor (2) (5) None of these

Which of the following is treated as artificial currency?

(1) ADR (2) GDR (3) SDR (4) IDR (5) None of these

As per the news published in various financial newspapers, the RBI is reworking the roadmap on Capital
Account Convertibility. If this is done who amongst the following would be able to invest in foreign
projects or acquire assets outside India without any restrictions?

(1) Public Sector Banks (2) Government of India (3) NBFCs
(4) Private Banks (5) None of these

The government of India has approved a new Direct Tax code which will be implemented from financial
year 2011-12. Which of the following statement is true about New Direct Tax Code?

(A) Tax for income between Rs.2 lakh to Rs.5 lakh-10%

(B) Tax for income between Rs.5 lakh to Rs.10 lakh-20%

(C) Tax for income over Rs.10 lakh-30%

(D) Corporate tax has been kept at- 30%

(1) Only A and B (2) Only B, C,and D (3) Only Aand C
(4) Only B and D (5) None of these

The total stock of money in circulation among the public at a particular point of time is called money
supply. RBI publishes figures for alternative measures of money supply these are known as aggregate
monetary resources. Which monetary measure is known as broad money?

(1) Mo (2) M4 (3) My (4) M3 (5) None of these
Which of the following is not an instrument of money market?

(1) Call Money (2) Treasury Bill (3) Bills of exchange
(4) Certificate of deposit (5) Debentures

The profit ‘s from sale of a house property which is earned by an owner is taxed by the government. This
form of Tax is known as

(1) Sales tax (2) Income from property tax (3) Wealth tax
(4) Capital gains tax (5) None of these
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Q.87.

Q.88.

Q.89.

Q.90.

Q.91.

Q.92.

Q.93.

Q.94.

Q.95.

Q.96.

Q.97.

Q.98.

Q.99.

Q.100.

The government proposals for the levy of new taxes, alternations in the present tax structure are in the
form of-

(1) Bill of exchange (2) Finance Bill (3) Treasury Bill
(4) Tariff (5) None of these

The Cabinet Committee on Economic Affairs gave its approval for implementation of Rajiv Gandhi
Scheme for Empowerment of Adolescent Girls ‘SABLA’. What is the aim of this scheme?

(1) To enhance the nutritional and economic status of adolescent girls.

(2) To provide primary education to the girls.

(3) To improve the birth rate of girl child.

(4) To provide technical knowledge to the girls.

(5) None of these

Which of the following term is not releated to banking?

(1) Creditor (2) Repo Rate (3) Radiation
(4) Explicit Guarantee (5) None of these

What is the full form of GDR?

(1) Global Depository Receipts (2) Golbal Developers Receipts (3) Gross Domestic records
(4) Goods Demand Records (5) None of these

Which of the following is not included among the public Sector Undertakings which are likely to be
awarded Maharatna tag?

(1) SAIL (2) NTPC (3) ONGC (4) GAIL (5) None of these
The type of tax in which goods are taxed by their values is known as

(1) Goods and Services tax (2) Value Added Tax (3) Ad Valorem tax
(4) Direct tax (5) None of these

Who has been appointed as chief of NASSCOM?

(1) Ganesh Natrajan (2) Chirayu Amin (3) Ashok parpola
(4) Pramod Bhasin (5) None of these

What is India’s position in UNCTADs world investment Report 2010?

(1) 1% (2) 2™ (3) 3¢ (4) 4" (5) None of these

As per news published in various news papers, The pension Fund Regulatorys and Development
Authority has launched a new scheme NPS-Lite. What is NPS-Lite?

(1) New Pension Scheme for senior citizens (2) New Pension Scheme for Women

(3) New Pension Scheme for Low Income Workers (4) New Pension Scheme for disabled persons
(5) None of these

Who has been elected as the President of Germany?

(1) Bronislaw Komorowski (2) Rosa Otunbayera (3) Alberto Contador

(4) Christian Wulff (5) None of these

UNDP has started a new poverty index known as-

(1) Social Poverty Index (2) Human Poverty Index (3) Multi-dimensional Poverty Index
(4) Poverty Index (5) None of these

Government has issued an ordinance announcing ULIPs as ‘Insurance Product’. Who will be the new
regulator of ULIPs?

(1) SEBI (2) RBI (3) Government of India (4) IRDA (5) None of these
Which of the following sectors contributes the maximum in India’s GDP?

(1) Service (2) Industry (3) Agriculture  (4) Manufacturing (5) None of these

Peso is the currency of-

(1) Japan (2) Argentina  (3) Australia (4) Nepal (5) None of these
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SPEED & ACCURACY TEST

TEST - 1l : REASONING

Q.101-105. Study the following information carefully and answer the given question.

Q.101.

Q.102.

Q.103.

Q.104.

Q.105.

A, B, C, D, E, F, G and H are sitting around a circular table facing the center. Each one of them
has a different profession viz. doctor engineer architect, teacher clerk, shop keeper, (architect, teacher
clerk shopkeeper) businessman and banker.

A sits third to right of teacher D sits second to left of G. G is not immediate neighbour of the
teacher. Only one person sits between B who is the shopkeeper and teacher. The one who is an
architect sits third to right of the shopkeeper, H sits between architect and engineer. E is not an
immediate neighbour of H. Engineer sits third to the right of clerk. Only one person sits between
businessman and F. E is neither a businessman nor a doctor.

Which of the following is true with respect to the given seating arrangement?
(I) E is an immediate neighbour of the engineer

(2) E is an architect

(3) The clerk is an immediate neighbour of the banker

(4) The teacher sits between H and the engineer

(5) Shopkeeper sits second to the right of the teacher

What is the profession of H?

(1) Businessman (2) Architect (3) Banker

(4) Teacher (5) Shopkeeper

What is the position of doctor with respect to the banker?

(1) Immediately to the left (2) Third to the left (3) Second to the right

(4) Fourth of the left (5) Second to the left

Who sit/s exactly between the architect and the businessman?

(1)CandH (2) Clerk (3) Banker and shopkeeper
(4) Doctor (5) C and teacher

Who amongst the following is a clerk?

(HcC (2)D 3)E 4)F 5) G

Q.106-110. In each question below is given a statement followed by two assumptions/inferences numbered |

Q.106

Q.107

Q.108.

Q.109.

and Il. An assumption is something supposed or taken for granted and an inference is some thing which
can by directly inferred from the given facts. You have to consider the statement and the following
assumptions/inferences and decide which of those is/are implicit in the statement.

Give answer (1) if only I is implicit.

Give answer (2) if only Il is implicit.

Give answer (3) if either | or Il is implicit.

Give answer (4) if neither | nor Il is Implicit.

Give answer (5) if both | and Il are implicit.

Statement: Let the secretary prepare power point presentation for Ashish.

(I) Ashish is incapable of preparing a PowerPoint presentation himself.

(I The secretary Is well versed with operations of power point.

Statement: Cars found parked In VIP parking area would be towed away.

(I) Some people have different parking privileges than others.

(I Parking spaces for VIPs and general public are separate.

Statement: A flyover would ease the traffic on Motilal Nagar road.

(I) The motilal Nagar road usually has lot of traffic.

(1) Currently also there is a flyover on Motilal Nagar road.

Statement: The newly launched book is making India read like never before.
(I India did not have avid readers before the lunch of his book.

(I This book has not been as successful as other books by the same author.
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U110, BT AR BRI H TS B I g9 B foIY, U fEHe gee W P B |
1. 37 AT fdapier ART gevre R fede g& HReT ude axd ¢ |
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YR TR 3MUD] BT H < T8 YD d1d DI Fal A1 & AR SqD d1e qF HRAT © fob QY Y gerai § A b
A PRIAE BRI & fU THETT WY A AFART B © |

IR AT (1) Al daer HRIATE 1 IFART HAT B |
IR AT (2) Al daat HRIATE 2 IFART HAT B |
IR ARTY (3) Al a1 A1 BRIAE! 1 A7 AR 2 ATERVT BT & |
IR ART (4) Al 7 O SRIATE 1 R 7 & SR 2 STIERIT BRell & |
IR ARTT (5) Al 1 iR 2 AT FrIarEar srgaRer S 2 |
111, BT OGRS IR YAl & qraoiE, X I # qiferdi @ 30 Al B -RUe el 81 F@ifd S99 g= &
Aa—fUar &1 iferdl & Raem® g9 I @ @ Tl el |
CAREIERIR
1. Uiferat & ifsa s=at & AT & Race wel dridral @ Sl IRy |
2. g H QIferdl ST 9 Tl STdexi & Rt bl BRIAR] &1 S+l a1y |
U112, BT Ol GERETSHl 9 BRI B AIGH H Bl § T 50 g gfg eR <1 B |
CAREIERIR
1. ANl BT BRI & A9 § $Hdal 41 9 241 9 81 I BRI B FA8 & ST a1fey |
2. g8 fammy ve A1 96 WRaR gR1 fAfafad feu s ARy |

J113. YA De ATH] EATS ISS R B T qifeh v &7 TF AR WR) THaR) & SR T IS IGE Bl
TSl |

FHriarfe:
1. 91 IS debrel R | o @l S a1y |
2. BATS 31SS UGN HI B U A1 & folt 883 &1 I a9 v =12y |
U114, PHAT  HIAAR DI eX DI GIG IR GP W AT BT T A/ BT AfFd gam 2
FHriarfe:
%gwmmﬁ% QIR ATATATT bl IR gael [&AT ST AMBY TAMMh IH FHA AT DI A DI HH fbar ST
|
2. WTAAR Bl 9 e I A GRT 7 81 Y TG T AT BT Y—ANT F B DI FaST1eh a1 STRI D MY |

U115, DA IfebIaiAD U BT 1A g8 HH BIF PR & & Rifch ATIRANAD ST F d8aR AT o et
gl

HrRIqIRT:
1. 3[HTGIHE M Bl SURT I Sirs AT ST A1y difh s e aRvey d8ar 81 | |

2. ATGATRID UISIHHI B 3D ATl DI HH ’HYD I ST ANV ATfch BT BTGB I BT TR
3 fid & |

T.116—120. << fT 1T U U H Ueb U3 3R SHD =1 & b | 3R || U 7T 2 | 31T I8 T BT & b dpermt
# fear a1 STeT 9T BT SR o7 & oY gIi| § A1 T8 21 < Ul Bl gfeu iR —

I ARMT (1) e DHadt w= | # a1 747 T1eT 929 &1 SR <7 & fory vafa & wafds fhad w11 # faar
T STl U39 BT SR oF & v Ui &1 2 |

I AR (2) e Had wA || # &1 1 ST U &1 IR <A & forv gaie 2 Srafe fae s | 4 faar
AT BTST U Bl IR <1 & forg gai =81 2|

IR GRY (3) I a1 T Daet B | A1 dadt HA || H fEam 737 STeT U= &1 IR <7 & oy gt 2 |
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SPEED & ACCURACY TEST

Q.110.

Statement: To avoid standing in long queues, book your tickets on the internet.
(I) ‘Most people prefer to book tickets on the internet these days.
(I1) Apart from the internet, tickets are available elsewhere as well.

Q.111-115. In each question below a statement is given followed by courses of action numbered | and Il. A

Q111.

Q.112

Q.113

Q.114.

Q.115.

course of action is a practicable and feasible step or administrative decision to be taken for follow up
improvement, or further action in regard to the problem, policy, etc. on the basis of the information given
in the statement, you have to assume everything in the statement to be true and decide which of the
suggested courses of action logically follow (s) for pursuing.

Give answer (1) if only course of action | follows.

Give answer (2) If only course of action |l follows.

Give answer (3) if either course of action | or course of action” follows.
Give answer (4) if neither course of action | nor course of action Il follows.
Give answer (5) If both courses of action | and Il follow.

Statement: Despite all the efforts by the government, thirty cases of polio were reported in state X as the
parents of those children remained uninformed of this drive against polio.

Courses of action:

() Strict action should be taken against the parents of children affected from polio.

(I) Strict action should be taken against the doctors administering polio drop in the state.
Statement: Private airliners have increased the fare during festive season by almost 50%.
Courses of action:

(I) People should be advised to travel only by buses and trains during the festive season.
() Airfares should be regulated by the government to the certain limit.

Statement: Several passengers were standard at the airport as all the flight had to be cancelled due to
severe snowfall for the third consecutive day.

Courses of action:
(I) All the flight should be immediately resumed.
(1) Airport authority should provide appropriate stay are arrangements for the standard passengers.

Statement: A practice march by the army is scheduled to be held on one of the busiest roads in the city
on Tuesday.

Courses of action:
(I) Traffic should be diverted during the practice march so as to ease traffic congestion during that time.
(I Public notices should be issued to avoid using the road till the practice march on Tuesday gets over.

Statement: Very few students have been opting for academic research as professional courses offer
better economic dividends.

Courses of action:
(I) Academic research should be linked to industry so as to improve its economic perspective.

(I1) Economic dividends of professional courses should be made less attractive so as to attract students
to academic research as well.

Q.116-120. Each of the questions below consists of a question and two statements numbered | and Il given

below it. You have to decide whether the data provided in the statements are data provided in the
statements are sufficient to answer the question. Read both the statements and

Give answer (1) if the data in statement | alone are sufficient to answer the question, while the data in
statement Il alone are not sufficient to answer the question.

Give answer (2) if the data in statement Il alone are sufficient to answer the question, while the data in
statement | alone are not sufficient to answer the question.

Give answer (3) If the data either in statement | alone or the statement Il alone are sufficient to answer

the question.
&5 BANKIX
“You

CWE/130/2011



U.116.

U.117.

v.118.

g.119.

9.120.

SPEED & ACCURACY TEST

IR DRTY (4) Ff HUA | IR o 1| A1 &1 el fdax ff yed & SR < & forv gaid T8 2 |
IR AT (6) Il Fo | IR HeA Il IFT &1 STeT AadR 999 & SR <9 & foly maeass ¢ |
fag A fd5 B 31 &9 faem &1 3R &7

I. If v fad famg A 1 Uf¥em &1 31k 5 AR Faral &, 9N JedT & 3iR R 5 HIex =erdr &, o1 98 fag B 4
4 HeR R BT |

NRSARTCIAIRPARE, AFGCRATD I RIPI AR ARG BAFTD & /I BT AR ¢ |
1S, M @1 A1 87?

LM, Q@& 989 %, QR @ 987 8 3R R, S & TN T |

.M, L@t g 8 aiR L, V& 987 2|

T AR A9l & AE 93 g widi B3 9o A, B, C, D @ E & Hg &= @l 3R &7

I.LA,D & T¢ & R 9 R 8| D & 8 &% @1 3R 8| B, A & 3T $I TER I W 9T |
I.C,E® a1¢ %I SR WH W IST 2| E & 48 % B AR 2| D, C & IM &I G R W 2 |
Prs W9 H 'came’ © for@r fram 287

. 'we came by car' @I '4 9 2 8' 3fR 'can we buy car' &I '5 8 0 2' for@r SITaT & |

Il. 'can car be cheap' @I '8 1 5 3' 3R 'came by cheap car' @I '9Q 8 4 1 foRaT SITAT % |

ST, SN, oilerr, T oiR Bt § W aNT BH ol DI 8 e

I o, oo & o) § &R R dad sir | ot 2

Il. SToTe AT IR AFT & o=t 7 | S, fOr &1 ol 8 | SR e o) 8l B |

U.121—123. FFAfRad Jrgeee @l ufey 3R I9ad dl& [9¢ URHl & IR QoI

I8 99 7 b gRA B R figavel bl Wrerd! TAd w1 al Rerfa | Ul srefwawern #
HYART BT § Th 8 & [STaH <37 1 dhde] WE—Ied ¥ ATAR 8T & dfesd fFaid & forg ugie
AT AT | IR B T © | ETeljich, D WTel AR DICAID] Bl fed A, NTEdI §9 URIRS
B JrENfieT § gART garT & (3719 UTaR & dTel d15)i &l fbwi iR Riarg & He—ATe) o Ugfa &1 I
<8l ¥ 3R Yoiel & Fguor TfaROT 2l R & TR Wk 93 @ ¢ |

9121, frHfRad § | SF A1 HUF oE@d b db DI Folqd HT?
(1) eRa wifa & YU B | Ugel 9IRA 7 WTE DI [AAG HH BT AT {63 |
%2)m@ammﬁm@ﬁwmmﬁmﬁﬁwﬁwwwwwwﬂﬁﬁm
|
(3) 95 & foramt 1 IamT B & IS Wie &1 YA IYH B B Uid I8 B AR I Wd IS 8l
|
(4) RT wifa g1 FART BTefds iR 31f¥rd UaTar < arel ISl TR ARIAT SR dTel fhar A1 I o &1
ST Urd 1T BRI Hifd & TRIbl BT IIHTT PR dTed BAT o 2 |
g)gﬁammwﬁa\%@?ﬁqcﬂquqdqmqﬁxﬂiaﬁﬁﬁﬁa%mﬂwﬁ@mqﬁaﬁmﬂﬁﬁ?ﬁsﬁ?
DS & Al BT Ul I FR o T |
u122.  FeIfelRad 3 9 fBwet S ST ST AT 27 (g 98 81T & Sl We—HIEel S8l WA 9fed Qg Ty
Tl & 37k BT WA AT AT Wb T )
(1) B3 <=M o IS @Il & TIART W gfager o9 & 2
(2) YRT @ SRl BT R HIA H R BT R AT 3HA @I T |
(3) R ifd & TH-Ndl & THRITD T BT AFAT ART H TEl AT 14T o |
(4) TRT TR ¥ WIET B BH BT ATHAT Tal BT |
(5) BRA Fifd BT I M JFARTET IR AT BT ARA H AU IUE 94 H AGE BT W AT |
U123, Il Wl H BRA il DI URYRS Th-iidd AT drel a4l § AT SR @1, A1 SAS FHIfdd J91T BT 1097
D A HAT BT 87
(1) RT oSy H R & @Wrer &) IARE HH BT AT Tl BT
(2) @ SrEl & At & qen 98 eI
(3) Raig & forv daet Hoiel B YANT fbaT SITYT
(4) IrETAE fANTaRA@ROT & A 9gd 98 SITg
(5) eRa wifa &I Al &1 T 7 &R daret e WRey — Haell TR TRl &1 AHAT B
CWE/130/2011
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SPEED & ACCURACY TEST

Q.116.

Q.117.

Q.118.

Q.119.

Q.120.

Give answer (4) if the data even in both statements | and Il together are not sufficient to answer the
question.

Give answer (5) if the data in both statements | and |l together are necessary to answer the question.
Point A is towards which direction from point B?

() if a person walks 5 m towards west from point A, takes a left turn and walk 5 m again; he would be 4m
away from point B.

(I Point A is towards the north of point C point C is towards the East of point D and Point B is towards the
East of point D.

Is S the mother of M?

(I) M is the sister of Q, Q is sister of R and R is daughter of S.

(I1) M is daughter of land L is sister of V.

Are all the five friends viz. A, B, C, D and E who are seated around a circular table facing the centre?
() A sits third to be right of D. D faces the centre. B sits second to the right of A.

(I) C sits second to the left of E. E faces the centre. D sit second to the right of C.

How is came, written in the code language?

() 'we came by car'; is written as ‘4 9 2 8 and ‘can we buy car is written-as’5 8 0 2'.

(I1) 'Can car be cheap' is written as ‘8 1 5 3’ and come by cheap car is written as ‘98 4 1°.
Who amongst shreya Jyoti Leena, pia and Kajal is the shortest?

(I) Leena is taller than pia and Pia is taller only than Shreya.

(I) Kajal is taller than Jyoti and Leena. Leena is taller than Pia. Shreya is not the tallest.

Q.121-123. Read the following paragraph and answer the question which follow:

Q.121.

Q.122.

Q.123.

It is true that the green revolution has succeeded in transforming the Indian economy from a
situation of severe food shortage into one where the country has not only become self-reliant in food
production but has also been able to generate a sizable surplus for export: However the high doses of
chemical fertilizers and pesticides, which have been used under this ‘conventional farming technology
(alone with high yielding varieties of seeds and irrigation) are now reversing the trend and causing
severe environmental and health hazards, including the contamination of ground water.

Which of the following statements would strengthen the authors’ arguments?
() India faced severe food short ages before the inception of green revolution.

(2) Organic farming i.e. farming without the use of chemical fertilizers makes the food products too
Expensive at retail level

(3) Many farmers have reported that the soil in their fields became infertile within five years of switching
over to chemical fertilizers.

(4) Farmers not relying on the hybrid and high yielding variety of speeds as propagated by green
revolution do not make as much profit as the ones using methods of green revolution.

(5) High yielding varieties of seeds as propagated by green revolution do not require much water for
irrigation purposes and are also resistant to pest attacks.

Which of the following can be inferred? (An inference is something which is not directly stand but can be
inferred from the given facts.)

(I) Many countries have banned use of chemical fertilizers

(2) Green revolution failed miserably to do the any good to India’s needs.

(3) The negative effects of techniques of green revolution were not anticipated at its inception
(4) India will never face food shortage again

(5) The main focus of green revolution was to help international fertilizer manufactures sell their products
in India.

Which of the following statements represents a possible effect of the conventional Green Revolution
techniques of farming if it continues in the country days to come?

(1) India would never face severe food shortage again in the future

2) Export of food products would increase manifold

3) Only ground water would be used for irrigation purpose

4) Cases of chemical poisoning would increase substantially

5) Farmers not following methods of green revolution would face severe health hazards

CWE/130/2011
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U.124.

U.125.

SPEED & ACCURACY TEST

IffRT J > M IR N < K &7 [Af¥ad w0 9 98 a99 @ forv & 13 aifvafdd & yedfos & e R
f=feRaa § & &9 A1 Ydid ST =mfae?

J>K?L=M>N

(1= (2) < @)=z (4)= ®)>

frefeRad # 9 {9 siffaafad § D > B der C > F afvedfad Mi¥ad wu &1 | grfi?
(1)A>B>C>D=F (2)A<B<C=D>F (3)A<B<C<D>F
4)A<B>C=D>F (5) 34 & DI T

7.126—130. f3U T yeAl &1 SR 39 & forv fF=ferRad SHarR & ufeu -

U.126.

U.127.

U.128.

U.129.

9.130.

IRE AT &1 FHEIGR Ul #, Ude Ufdd & o8 T, s ydR 9 8 | Ufdd — 1 5P, Q, R, S, T 3R
V 43 2 ok |1 %1 g sfaor Y sk 2 | dfad — 2 H A, B, C, D, E, T F 93 & 3fR T+l &I & SaR &l IR © |
9 UBR, §o1 B 41 TTg 9T H T Ui H 93 U AT Bl §g gas! Uik H 40 Uid Afdd & ar o |

P, T @& ¢ &T <R I WR 4oT & | 9 a1 P 1 81 T ufdd & SifcH BR R §oT 2 | A, E & W g8
RMMAWRITZITATATNE TATPD A 2| A fbl Ush 3ifcH BR IR 78l 98l 8| R, A & A1+ -8l 8
3R R ufe & sifea BR WX 8] 981 2 | F Ud C & &I $adl Y &fdd do1 & | A dl F = 8 C, T & A
21 C ol v it DR R 8l a1 21V U4 Q & €I dded U Afad 901 & | F, B & a7l § =8} daT
AR A,V P AT T8 2

BdaD & §a fbad aufag 93 87

g

(1) & () &1 (3) <1 (4) =R (5) 1S eI

B &V W T8 W & Wl Q &1 C ¥ 8| ¥l Ued & FJ9R P & da fr=iforiRad 4 9 fods @ 27
(1) F (2) A (3) D (@) E (6) 3 A ®Ig 7TE

V & ddy # AfferiRad # @ 9 6 82

(1) V, A & A+ & @) T,V & UdHaH 97Tl # Tal 93T §

(3) C S9® AMH § I V @ 9N &1 qENT © (4) v dfad & T eifom BR W deT '

(5) R, V & B¢ &I TR M WX 90T 8
faforRed # & &= dfad & Sift BRI w 98 87

(1) D, F @ V,S B) Q, S @) B,D (5) STH & PIg &l
frfaRad % 4 B @ AFH ®IF 27
(1) Vv (@ s (3) Q (@) R ) T

9.131—137. AU U Y9l &7 SR <o & forg f=feRad SHaeRy &f ufeu |

U.131.

U.132.

U.133.

CWE/130/2011

g8 G L, M, N, O, P 3R Q fafs=1 <711 @1 ardai 3o — &, dred, wiiell, 9%, Jard! 3R i 4
R TV 8, TR TN o] fb 59 3 # | 39 didcll Bl 918 | ST SITT STl 8, UR STRex) FTel fb 5T o H |

AR M H%E didcl § 9T A7 © | A L, 890 dide § A8l g7 A7 § 3R S 9idd & UdheH
90 GT AT & | A O =il el H @7 TI7 § 3R S S didell @ a1 § 8 N8 e L td M 2|
e 9Idel 91U BR UR 2 | X1 Q a7l diadl fhdl 9 BR IR 71 8 | 89 91de 3N BR R 8, T P I%a
qIdel & U S8l T AT § |
SR TR H 3T 37T WATH B YR GR FeiRad g # W IR fhdl YR G919 & sAIfely SH&T Uh
THE 991 © | 98 U DI AT © Sl 39 A8 H ol 37l 27

(1) LM (2) LP (3) QO (4) LQ (5) NO
for 9ider & T L 87
(1) Terrdt (2) reft (3) @

(4) faiRa &1 foar S |@war (5) 379 A BIS T8l
frfalRaa § & I &R dIad &1 B9 AT Fao el 27
(1) P — o 2) N — & B)P — & @) Q— 1A (5) T W BIS AL
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SPEED & ACCURACY TEST

Q.124. ‘Which of the following symbols should replace the question mark in the given expression in order to
make the xpressions’ J > M’ as well as ‘N < K’ definitely true? J>K?L=M>N

(M= (2) < ()= (4)= (5) >

Q.125. In which of the following expressions will the expressions’ D > B’ as well as C > F be definitely true?
(H"A>B>C>D=F (2)A<B=<C=D>F (3)A<B=<C<D>F
4)A<B>C=D>F (5) None of these

Q.126-130. Study the following information to answer the given questions:

Twelve people are sitting in two parallel rows containing six people each, in such a way that
there is an equal distance between adjacent persons. Inrow- 1P Q, R, S, T and V are seated and all of
them are facing south. Inrow-2 A, B, C, D, E and F are seated and all they are facing north. Therefore, in
the given seating arrangement each member seated in a row faces another member of the other row. P
sits third to the left of T. Neither P nor T sits at an extreme end of the line. A sits second to the right of E.
Neither A nor E faces T or P. A does not sit at an extreme end. R does not face A and R does not sit at an
extreme end of the line. Only one person sits between Fand C. Neither F nor C faces T. C does not sit at
the extreme end. Only one person sits between V and Q. F is not immediate neighbour of B and A doe’s

face V.
Q.126. How many persons are seated between B and D?
(1) One (2) Two (3) Three (4) Four (5) none

Q.127. V is related to B in the same way as Q is related to C. To which of the following is P related to following
the same pattern?

(MF (2) A (3)D (4)E (5) None of these
Q.128. Which of the following is true regarding V?
(1) V faces A

(2) T is not an immediate neighbour of V.
(3) C faces the one who is second to left of V
(4) V sits at one of the extreme ends of the line
(5) R sits third to the right of V
Q.129. Who amongst the following sit at extreme ends of the rows?

(1)D.F (2) V.S 3)Q.s (4)B.D (5) None of these
Q.130. Who amongst the following faces B?
(mv (2)s (3)Q 4R ®G)T

Q.131-137. Study of the following information to answer the given questions:

Six chemicals L, M, N, O, P and Q are kept in bottles of different colours viz, green, red, blue,
while, pink and violet. not necessarily in the same order. There bottles are arranged from left to right
again not necessarily in the some order.

Chemical M is kept in white bottle. Chemical L is not kept in green bottle and is kept to the
immediate left of the violet bottle. Chemical O is kept in the blue bottle. Chemical O is kept in the blue
bottle and is kept exactly between the bottles containing chemicals L and M. The red bottle is at the
extreme left end. The bottles containing chemical Q is not kept at either of the ends. The green bottle is
kept at the extreme right end. Chemical P is not kept near the white bottle.

Q.131. Four of the following five are alike in a certain way based on their positions in the above arrangement and
so form a group. Which is the one that does not belong to the group?

(1) LM (2) LP (3) QO (4)LQ (5) NO
Q.132. Which bottle contains chemical L?

(1) Pink (2) Blue (3) Red

(4) Cannot be determined (5) None of these

Q.133. Which of the following combinations of chemical and bottle is Correct?
(1) P—-Red (2)N—Green (3)P —Green (4) Q- Pink (5) None of these

& BANKI
’f\ 4 ou

CWE/130/2011



U.134.

U.135.

U.136.

U.137.

SPEED & ACCURACY TEST

e aaa § T Q &7

(1) T (2) &0 (3) drefr

(4) FeiRa 921 far ST Fpar  (5) 399 9 Big T8I

I BBl WAl BT a1¢ ¥ IQ JUITGHA I SRR 1Y, AT fdhae] AR BT I IRafld eam?

(1) @18 =7 (2) T® (3) =1 (4) <= (6) @R
for dider ® = N 82
(1) & (2) wre (3) Tetrdt

(4) faiRa =&t foar o1 |Awar (5) 78 & BIS 81

TN BR W I didd H S AT R 87

(1P @ N (3) L
(4) faiRa &1 foar <7 |@war (5) 379 4 DIS 8l

U.138—145. f=foIRad SR BT &9 W 3egy= $R QU 0 UZHl & Sax. ST

T TTeq 3iR AT g 73 ereal SR WA Bl $7YC olfs fay S U Ucdieh aRvT 3 Bl @y
R &7 SITARYT FRdl gU S YedaRed &l & | 37T MR Jeiawel & Tdh SaTexvl < f3ar = 2 | (89
gt % il et & s WA R )
g1Yc:  lived 18 a 12 once 93 upon 32 time 46 wolf
=N |: ~ alived 18 12 once 93 upon 32 46 time wolf
=NoT |I: ~ a once 18 12 93 upon 32 46 lived time wolf
=R 1Il: * a once upon 18 12 93 32 46 lived time wolf
=R |V:" a once upon 93 18 12 32 46 lived time wolf
IR V: * a once upon 93 46 32 18 12 lived time wolf
=0T VI: a once upon 93 46 32 18 12 lived time wolf
IROT VI WG g9 Bl G BT SHfoH =R0T 2 qifs SIfUa Fawerr U< & T ¢ |

U.138—142. 319 fT=IfolRad $7ge WR SMEMRT Ui & SR QoI

Y.138.

U.139.

U.140.

CWE/130/2011

gT9c:  unique 84 can 77 open 86 quick 13 base 53 amiss 11 equal 98 start
SWIad g99e H =Rom || fr=ferRad & & a9 @1 22

(1) Amiss equal unique 84 77 open 86 quick 13 base 53 11 98 can start

(2) Amiss equal open unique 84 77 86 quick 13 base 53 11 98 can start

(3) Amiss equal open unique 84 77 86 13 53 11 98 base can quick start

(4) Amiss unique 84 77 open 86 13 base 53 11 equal 98 can quick start

(5) T & DS el

$9e & fag ==or Il & gigar (S8 9k 9) wes / e f=fofRad § 9 &4 o @R
(1) 53 (2) 11 (3) equal (4) 98 (5) T & BIE 7B
e & forg 3ifed =Ror fFr=iferRad % & @I= A1 8rTTe

(1) amiss equal open unique 98 86 84 77 53 13 11 base can quick start

(2) amiss equal open unique 98 84 86 77 53 13 11 base can quick start

(3) amiss equal open unique 98 86 84 77 53 13 11 can base quick start

(4) amiss equal open unique 98 86 84 77 53 11 13 base can quick start

(5) T & P
BANKI& ou



SPEED & ACCURACY TEST

Q.134.

Q.135.

Q.136.

Q.137.

Which bottle contains chemical Q?
(1) Pink (2) Green (3) Violet
(4) Cannot be determined (5) None of these

If all the six chemicals are arranged alphabetically from left to right, positions of how many will remain
unchanged?

(1) None (2) one (3) Two (4) Three (5) Four
Which bottle contains chemical N?

(1) Green (2) Red (3) Pink
(4) Cannot be determined (5) None of these

Which chemical is kept in the bottle at the extreme right end?

(MP (2)N )L

(4) Cannot be determined (5) None of these

Q.138-145. Study the following information to answer the given questions:

A word and number arrangement machine when given and input line of word and numbers
rearranges them following a particular rule. The following is an illustration of input and rearrangement.
(All numbers in these questions are two digit numbers)

Input: lived 18 a 12 once 93 upon 32 time 46 wolf

Step| :alived 18 12 once 93 upon 32 46 time wolf

Step Il :aonce 18 12 93 upon 32 46 lived time wolf

Step Il : a once upon 18 12 93 32 46 lived time wolf

Step IV : a once upon 93 46 32 18 12 lived time wolf

Step V :aonce upon 93 46 18 12 32 lived time wolf

Step VI : a once upon 93 46 32 18 12 lived time wolf

Step Vlis the last Step of the arrangement of the above input as the intended arrangement is obtained.

Q.138-142. Now answer the questions based on the following input :

Q.138.

Q.139.

Input: unique 84 can 77 open 86 quick 13 base 53 amiss 11 equal 98 start

Which of the following would be step Il for the above input?

(1) Amiss equal unique 84 77 open 86 quick 13 base 53 11 98 can start

(2) Amiss equal open unique 84 77 86 quick 13 base 53 11 98 can start

(3) Amiss equal open unique 84 77 86 13 53 11 98 base can quick start

(4) Amiss unique 84 77 open 86 13 base 53 11 equal 98 can quick start

(5) None of these

Which of these words/ numbers would be fifth (from right side) in step Il for the input?
(1) 53 (2) 11 (3) equal (4) 98 (5) None of these

Q.140. Which of the following would be the last step for the input?

(1) Amiss equal open unique 98 86 84 77 53 13 11 base can quick start
(2) Amiss equal open unique 98 84 86 77 53 13 11 base can quick start
(3) Amiss equal open unique 98 86 84 77 53 13 11 can base quick start
(4) Amiss equal open unique 98 86 84 77 53 11 13 base can quick start
(

5) None of these
27y BANKI
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SPEED & ACCURACY TEST

U141, SWIGd §7YC & ol Fa=AT Bl QT HA & forg fdvael aRor =nf2g?
(1) Vi (2) 1 4)V 4) v (5) None of these
g142. frefoRed gaafarer & 5 @xor & forg 27
amiss equal open unique 98 84 77 86 13 53 11 base can quick start
(1) Step Il (2) Step V (3) Step VI (4) Step IV (5) 3H | I3 7TEI
Y.143—145. {9 U $9YC & fo1W (A), (B), (C), (D) 3R (E) & ®U # Uig =RVT fgaRerd oxa oy ¢ 1 Ay MY
JETEV0T & IR WR S8 (o A # AT =112y, 39 $HH 9 o | fiR 39 a1e Ay 77 yedl & IR g |
A) arrival on 16 44 28 66 finish match
B) arrival on 66 44 28 16 finish match
C) arrival 16 44 28 on 66 finish match
D) arrival on 66 44 16 28 finish match
(E) arrival on 66 16 44 28 finish match
9143, wRW Il f=feaRad § @ si=ar gem?

(
(
(
(

(1A (2)B Q) C (4)D () E
U144,  =RO1 Il FF=feRad & | ®H«r sT?

(1A (2)B @) C (4)D () E
U145, =R | fA=ferRad # & dl=ar gTr?

(1A (2)B ) C (4)D () E

U.146—150. fQU T Uel &1 IR <1 & oy fFr=1eiad STHeRI 31 ufeu:
g Alcd A, B, C, D, E Td F HHaR 9 Y% PR & (IR TP Wel S, U &7 faeprer eI R

Wﬁﬁssﬁwﬁ@|mmaﬁwﬁw—wﬁzlw,1w, 118%,23%,216%@?
2 2 2
3 €, W Sl el fob ST HH H |
?ﬁﬁwwmﬁﬂﬂﬁ%ﬁwﬁﬂlwmqw e Wl SITdT & | FTed E I UdheH Ugdl
2

TTeE A WA ST 2| A F, S 3 6 3T & 3R AT C, A 6 BT & B G @ ed e o 2|
2

JAHTI BT a7 Aled E & Wel SfIH & 918 & 3R B & fa7 der Aed A & di= g1 e 8 | e D, ST 2

e BT 2, AHAR Bl T8l Wil STl & | 31y & faT & Uheq Ugal Well AT Aled 3 B HI & | Ach |21

2

H¢ W Hq B B
U146. Alchd B P IHEIAEE fha 22

(1)2%8@ (2) 28 (3) 1 ser (4)%5@ (5) 3H | I3 7TEI

Y147, 3B BT & HiF 1 87
(1) HTeraR (2) AR (3) gHar (4) o (5) FeaiRa =&l fvar <1 |Awar
U.148. Hled — fod — FHIMEE & F=filRad § | draar wae der 87

(1)E-ggaR — 2 |C (2) A - @GR — 1 ©el (3)C-§€Wﬁ?ﬂ?—1lﬂ%
2

(4) F - #iTel@aR — 3 ® (5) PI$ WA & ©
U.149. ¥e® D foa T Wer Sirar 87
(1) gTaR (2) oA (3) HTAaR (4) gaR (5) fertRa =&t oo S Adar
U.150. MBI & fad & Ugal fdhaw Ared Wol oI 87
' Sl (5) 379 & BIS &l

(1) =1 (2) wP ORIE] @)
BANKI
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SPEED & ACCURACY TEST

Q.141. How many steps would be needed to complete the arrangement for the above input?
(N Vil (2) m 4)Vv 4)1v (5) None of these
Q.142. The following stands for which step of the rearrangement?
amiss equal open unique 98 84 77 86 13 53 11 base can quick start
(1) Step Il (2) Step V (3) Step VI (4) Step IV (5) None of these
Q.143-145. Given below are five steps in a jumbled order in the form of (A), (B), (C), (D) and (E) for an input.

Arrange the according to the order in which they should appear based on the example given. Then
answer the questions that follow.

(A) arrival on 16 44 28 66 finish match
(B) arrival on 66 44 28 16 finish match
(C) arrival 16 44 28 on 66 finish match
(D) arrival on 66 44 16 28 finish match
(E) arrival on 66 16 44 28 finish match
Q.143. Which of the following will be Step 11?7

(1A (2)B 3)C (4)D (B E
Q.144. Which of the followiing will be Step IlI?

(1) A (2)B ) C (4)D (5) E
Q.145. Which of the following will be Step 1?

(1) A (2)B )¢ (4)D (B)E

Q.146-150. Study the following information to answer the given questionss:

Six players A, B, C, D, E and F are to be staged starting from Monday and ending on Sunday
with one of the days being an off day, not neceesarily in the same order. Each of the plays has different

time duration: 2 hour, 1 hour, 15 hours, 2 hours, 25 hours and 3 hours, again not necessarily in the same
order.
Sunday is not an off day and a Play of% hour duration is staged on that day. Play A is staged

immediately before Play E. There are two plays staged between Play F which is for 3 hours and Play C
which is for 15 hours. THe off day is after the staging of Play E and there are two days between the off

day and play A. Play D which is for 2 hours is not sta%led on Monday. The play staged immediately before
the off day is of 3 hours. Play A is for less than 25 hours.

Q.146. What is the time duration of play B?

(1) 2% hours (2) 2 hours (3) 1 hour (4) % hour (5) None of these
Q.147. Which day is the off day?

(1) Thuesday (2) Monday (3) Friday (4) Saturday  (5) Cannot be determined
Q.148. Which of the following combinations of Play - Day - Time Duration is correct?

(1) E - Wednesday - 2 hours (2) A - Tuesday - 1 hour (3) C - Thursday - 1% hours

(4) F - Tuesday - 3 hours (5) None of correct
Q.149. On which day is play D staged?

(1) Wednesday (2) Saturday  (3) Tuesday (4) Friday (5) Cannot be determined
Q.150. How many plays are staged before the off day?

(1) Two (2) One Five (4) Three (5) None of these

3)
CWE/130/2011
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SPEED & ACCURACY TEST

U.151—155. f=forRad gedl # gedfag (?) & I W T ARAT?
U151, (34 x 55) T (5 x 7)% + 456.60 = 699.1 + ?

(1)412 (2) 422 (3) 418 (4) 428
U152 14 x 627 ++/1089 = (?)* + 141

(1) 15v5 (2) (125)° (3) 25 4)5
g1ss 2185401 435_(° 7

6 6 15 4 30

(1)2 (2)8 (3) 512 (4) 324
154, (80 x 0.40)°+ (40 x 1.6)° x (128)° = (2)7 + 7

(1)25 (2) 11 (3) 12 (4) 18
185 (V7 +11)° —(")% +2./847 +122

(1)36+44/7 (2)6 (3) 216 (4) 36

(5) 379 ¥ BIg &l

5) $TH & BIg el

(ESERCIERE

5) $T4 9 BIS el

(5) 3T & BIS &l

.156—160. FfIRad o=t & weaiferg (?) & I UR oIl el &l T | (AATAT e Dl 0T e T8))

U.156. 1299 &T 73.99% + 1899 &1 9.98% = ?

(1) 1250 (2) 1230 (3) 1150 (4) 1180
9.157. 5891 + 14.99 + 589.01 - 111.99 = ?

(1) 870 (2) 920 (3) 840 (4) 810
U158 (9.979)° - (23.99)2 + (1.99)° =

(1) 350 (2) 490 (3) 390 (4) 420
9.159. [ ] x%+%=?

(1) 6320 (2) 6350 (3) 6400 (4) 6430
9.160. 2439.97 - 1234.01 + 401.99 = ? +989.99

(1) 620 (2) 650 (3) 680 (4) 700
U.161—165. fAr=forRad W1 sf@er # ueHfas (?) & IF W a7 MIT?
9161. 28 39 63 102 158 ?

(1) 232 (2) 242 (3) 233 (4) 244
g162. 7 16 141 190 919 ?

(1) 1029 (2) 1019 (3) 1020 (4) 1030
9163. 12 17 32 57 92 ?

(1) 198 (2) 195 (3) 137 (4) 205
9.164. 19 25 45 87 159 ?

(1) 254 (2) 279 (3) 284 (4) 269
9.165. 83 124 206 370 698 ?

(1) 1344 (2) 1324 (3) 1364 (4) 1334
CWE/130/2011
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(5) 1200

(5) 770

(5) 450

(5) 6490

(5) 600

(5) &4 | PIE el

5) $TH & DIg el

(5) &4 | I el

5) $1H & DIg el

5) g9 A PIS T



SPEED & ACCURACY TEST

TEST - IV : QUANTITATIVE APTITUDE

Q.151-155. What will come in place of the question mark (?) in the following questions?
Q.151. (5 x 7)% of (34 x 55) + 456.60 = 699.1 + ?

(1) 412 (2) 422 (3) 418 (4) 428 (5) None of these
Q.152. 14 x 627 +/1089 =(?)° + 141
(1) 55 (2) (125) (3) 25 (4)5 (5) None of these

3
Q.153. 21—5+21- 1——( )
6 6 15 4 30

(1) 2 )8 (3) 512 (4) 324 (5) None of these
Q.154. (80 x 0.40)°+ (40 x 1.6)° x (128)° = (2)" + 7
(1) 25 ) 11 (3) 12 (4) 18 (5) None of these

Q.155. (\7 +11)? =(?)% + 24847 +122
(1) 36 + 447 (2)6 (3) 216 (4) 36 (5) None of these

Q.156-160. What approximate value will come in place of the question mark (?) in the following questions? (You
are not expected to calculate the exact value.)

Q.156. 73.99% of 1299 + 9.98% of 1899 = ?

(1) 1250 (2) 1230 (3) 1150 (4) 1180 (5) 1200
Q.157. 5891 + 14.99 + 589.01 - 111.99 = 2

(1) 870 (2) 920 (3) 840 (4) 810 (5) 770
Q.158. (9.979)° - (23.99) + (1.99)° =

(1) 350 (2) 490 (3) 390 (4) 420 (5) 450
Q.159. [jz 455 Glg8

4) “9 799

(1) 6320 (2) 6350 (3) 6400 (4) 6430 (5) 6490
Q.160. 2439.97 - 1234.01 + 401.99 = 2 +989.99

(1) 620 (2) 650 (3) 680 (4) 700 (5) 600

Q.161-165. What will come in place of the question mark (?) in the following number series?
Q.161. 28 39 63 102 158 ?

(1) 232 (2) 242 (3) 233 (4) 244 (5) None of these
Q.162. 7 16 141 190 919 2

(1) 1029 (2) 1019 (3) 1020 (4) 1030 (5) None of these
Q.163. 12 17 32 57 92 2

(1) 198 (2) 195 (3) 137 (4) 205 (5) None of these
Q.164. 19 25 45 87 159 2

(1) 254 (2) 279 (3) 284 (4) 269 (5) None of these
Q.165. 83 124 206 370 698 2

(1) 1344 (2) 1324 (3) 1364 (4) 1334 (5) None of these
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SPEED & ACCURACY TEST

U.166—170. b H | 3R Il 3T FHHRoT AU MU B | 3MYBT ST THIBRIT B PR & IR

IR TNY (1) Ik x>y
SR ART (2) afe x >y

IR TINY (4) I x <y
IR AT (5) afe x = y A1 Ay w=nfid =21 fhar 51 Adbdr
25 129 4

ERTR A A II.9.84 - 2.64 = 0.95 + y?
X X X X

9.167. 1. +/901x + /1295 =0 II.(257)41y+(217)%=0

7.168. |.(3)5*?;(7)3=x3 I 7y® = - (15 x 2) + 17y°

7169. L (x* +16)> =144 = x?2 Iy xy® x3104=16x y?

7170. 1. 3x*-19x+28=0 Il.5y? -18y + 16 =0

TA71. G, A1, AT SR STeTSl @ acar g & e ek IGUIT 21 7 1 8 : 12 BT | Y3 AR A1l Bl A 311g 27
g8 2| 7 9¥ I AGT B MY fHa 2R
(1) 40 a9 (2) 41 99 (3) 48 Ty (4) 49 Td (5) S A DI &I

U472, UdH GRIET H T BT AfRd A 25 3fd B el | fed B A1 F 45 3fd 1fda el | g7 o 75 3@ et At
AT A 10 37 D 2 | A B 3 Wer B AfBHTH 3ihi | 50 HH T | AR (Y BT AT A 34 37 AfAD fyer
g a1 A BT e § T fhae ufiera &fe ffer?
(1) 90 () 70 (3) 80 (4) 60 (5) 85

U173, TH BT & Fa 9 3NR AdH BIC DIV BT HHT: SIUTT 3 : 1 ¥ | F[ST BT AT G857 BIvT 44° 7 2 | gt
@ I I BIVT BT 150 Ufcrerd faar arm?
(1) 149 2) 129 (3) 153 (4) 173 (5) 379 ¥ P 7TEl

UA74. U ISl BT Y BIVT FAIR Aol & BIC DIV I A 0N 2 | FHR ISl & Al-ADHT DIV BT HH:
3T 4 : 5 % | AGHST @ WY <Al DI U DI HHAI: ATUTT 4 11 : 9 & | 3HD FIH I AR FIH BIT DI &I
AN foperer |
(1) 255° (2) 260° (3) 265° (4) 270° (5) ST & BIg &I

U.175. U argA 756 fbHl. / HS B A T IS &7 © | aIgIH §RT 9 €S § I BT T8 g1 A A 4 7
IR H TP BfeTdHIeR B 48 TC I € | Bferdiex 18 €S # fohael & T HT? (I8 A19d gV o S famr
wd 2 3R TR VP T & )
(1) 5014 f&#r.  (2) 5140 fH.  (3) 5130 fl.  (4) 5103 B  (5) S99 & B -T&l

U.176. 1925 I I &FH dlel ETIT B IR T T 1 SIS B aRIER 7 | IS AT D TS 48 FHI. RN
STl dTel 9 & URAM & §A9 © Al 3Mdd &1 A fBa- srm?
(1) 734 T (2) 754 L. (3) 745 ¥
(4) FaiRa &1 foar <1 |Awar (5) 379 A DIg 8l

U.177.  HRT 7 o % 62000 HUY H TWRIAT 3R I 25 YR Jaa= WR 91 | IH bH A ST T g I TNIal
3R SN 30 URTE ™ WR 99 AT | SHPT ol %1/ JHA fbar 12
(1) . 1560 BT Jb<TT (2) ®. 1560 BT BT (3) . 1550 BT JHuATT
(4) . 1550 BT HII&T (5) ST | B &I
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SPEED & ACCURACY TEST

Q.166-170. In the following questions two equations numbered | and Il are given. You have to solve both the

Q.166.

Q.167.
Q.168. 1

Q.169.

Q.170.
Q.171.

Q.172.

Q.173.

Q.174.

Q.175.

Q.176.

Q.177.

equations and

Give answer (1) if x >y

Give answer (2) if x>y

Give answer (3) if x <y

Give answer (4) if x <y

Give answer (5) if x = y or the relationship cannot be established
25 12 9 4

[ I.9.84 - 2.64 = 0.95 + y?
x2 x x? x?
1 1
I. /901x + /1295 = 0 IL.(257)* y + (217) =0
5 3
.w: I 7y® = - (15 x 2) + 17y°
1 3 1 2
I (x* +16)> =144 + x?2 Iy x y? x 3104 =16x y?
l. 3x2 - 19x + 28 = 0 II. 5y - 18y + 16 =0

The respective ratio between the present ages of son, mother father and grand fatheris2:7:8:12. The
average age of son and mother is 27 years. What will be mother’s age after 7 years?

(1) 40 years (2) 41 years (3) 48 years (4) 49 years (5) None of these

In the examination Raman scored 25 marks less then Rohit. Rohit scored 45 more marks than Sonia.
Rohan scored 75 marks which is 10 more than Sonia. Ravi’s score is 50 less than maximum marks of the
test. What approximate percentage of marks did Ravi score in the examination if he gets 34 marks more
than Raman?

(1) 90 (2) 70 (3) 80 (4) 60 (5) 85

The largest and the smallest angles of a triangle in the ratio of 3:1 respectively. The second largest angle
of the triangle is equal to 44°. What is the value of 150 percent of the largest angle of the triangle?

(1) 149 (2) 129 (3) 153 (4)173 (5) None of these

One of the angles of a quadrilateral is thrice the smaller angle of a parallelogram. The respective ratio
between the adjacent angles of the parallelogram is 4 : 5 Remaining three angles of the quadrilateral are
inratio4: 11 : 9 respectively. What is the sum of the largest and the smallest angles of the quadrilateral?
(1) 255° (2) 260° (3) 265° (4) 270° (5) None of these

An aeroplane flies with an average speed of 756 km/ hr. A helicopter takes 48 hours to cover twice the
distance covered by aeroplane in 9 hours. How much distance will the helicopter cover in 18 hours?
(Assuming that flights are non-stop and moving with uniform speed)

(1) 5014 km (2) 5140 km (3) 5130 km (4) 5103 km (5) None of these

The circumference of a semicircle of area 1925 sq. cm is equal to the breadth of a rectangle. If the length
of the rectangle is equal to the perimeter of a square of side 48 cm. what is the perimeter of the
rectangle?

(1) 734 cm (2) 754 cm (3) 745
(4) cannot be determined (5) None of these

Meera purchased an item for Rs.62,000 and sold it at lose of 25 percent. With that amount she
purchased another item and sold it at a gain of 30 percent. What was her overall gain/ loss?

(1) Loss of Rs.1560 (2) Profit of Rs.1560 (3) Loss of Rs.1550
(4) Profit of Rs.1550 (5) None of these

& BANKI
’f\ 4 ou
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9.178.
24 GfRId & I SR IS H&RAT @ Y & INT BT Hod b= sTTe
(1) 415 (2) 400 (3) 410 (4) 425

T.179. R e v weamit 3k O Hie a0 et @ I & S 20 B SR 2| AT €, 9N S9) GH G
e g9 fawH e ¥ 5 1fd € | 9N Bl fAvH AT iR e 8IS 9 AT &I AT fdhaer 87
(1) 75 @) 77
(@) faiRa =&t foar o7 |Awar (65) 78 & DI T8

9.180.

¥ 2 qy H I oA W o Thgfg el Sufed gnem?

(1) %. 1040
U.181—185. 39 RO Pl &9 A Uy iR I9 18 Ay MY ugdl & SR Il |
B: 3T T HEHl H AR ST AT HUFTAN §RT &I YR B a3l I Scuard

(2) . 1020

(3) . 1060

(@) . 1200

SPEED & ACCURACY TEST

(5) 37T %1 @IS &l

(3) 85

(5) 374 1 BIg el

T ARI BT AN 11 & ¥ AR 9 & g9 & INT & IRI6R o | I8 AT 25 & a7 A (5)° HH 2 | BIC A& &

T If¥Ed Jeta U= 13 Uferd Ul av $7 &% 4 3716 a¥ H IUTR ARl 1ol HUY 6500 & |8 UBLHT. Bl &%

DYl K L M N
AE |[JR — 1 | IR — 2 | R — 1 R — 2 | UBR — 1 | JHR — 2 | UHR — 1 | YHR — 2
SR 234 452 432 654 434 324 435 564
B 545 543 534 335 532 450 652 544
A 756 670 864 654 765 565 564 765
SR 634 765 643 454 665 933 875 809
T 568 656 789 654 424 666 565 544
S 875 426 908 767 568 958 574 546
U181, BHUH M §RT IcIfad UbR — 1 Bl a3l AR HUN N gRT IMET YHR — 2 DI 9311 & 41 GIRT G HH
IR b HET H or?
(1) ST (2) ®RaRY (3) Ard (4) arret (5) 7S
U182, SRl el H Gl Ul gRT fFefax IANed ax] — 2 1 3id H=T foha=ir of?
(1) 4985 (2) 489.5 (3) 4695 (4) 4965 (5) S8 & PIg &I
7.183. HS WA H BUl M gRT ScUIfad THR — 2 BT g3l &l HAT 3R A FE H Bl L gRT Iedrfad TR — 1
BT IERN BT AT & S HAT: U fhar 87
49 31 0 43 : :
) = 0 — @= (5) S & T T
109 48 109 58
U.184. 3Vt W18 H HU N §RT ST THR — 1 Bl GG Dl F&T A1 7 H U M §RT STed ThR — 2 Bl
3T BT FAT BT T fohee ufcrerd 272
(1) 145 (2) 150 (3) 140 (4) 160 (5) 155
U.185. S Hel H U K §RT IATAT YHR — 2 B avgall B Gl 3 fUwel HelH &1 g H o foba ufcrerd
FH ofi?
(1) 30 (2) 25 (3) 22 (@) 40 (5) 35
CWE/130/2011
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SPEED & ACCURACY TEST

Q.178.

Q.179.

Q.180.

sum of two numbers is equal to sum of square of 11 and cube of 9. Larger number is (5)° less than
square of 25. What is the value of the sum of twice of 24 percent of the smaller number and half of the
larger number?

(1) 415 (2) 400 (3) 410 (4) 425 (5) None of these

The difference between the sum of four consecutive odd numbers and there consecutive odd numbers
and three consecutive even numbers together is 20. also the largest even number is 5 more than the
largest odd number. What is the sum of the smallest odd number and the smallest even number?

(1) 75 (2) 77 (3) 85

(4) cannot be determined (5) None of these

The simple interest accrued on a sum of certain principal is 6500 in eight years at the rate of 13 percent

per year. What would be the compound interest accrued on that principal at the rate of 8 per cent per
year in 2 years?

(1)Rs.1040  (2)Rs.1020  (3)Rs.1060  (4) Rs.1200  (5) None of these

Q.181-185. Study the table carefully t answer the questions that follow:

Production of two types of items by four different companies in six different months
Company K L M N
Months Type-1 | Type-2 | Type-1 | Type-2 | Type-1 | Type-2 | Type-1 | Type -2
January 234 452 432 654 434 324 435 564
February 545 543 534 335 532 450 652 544
March 756 670 864 654 765 565 564 765
April 634 765 643 454 665 933 875 809
May 568 656 789 654 424 666 565 544
June 875 426 908 767 568 958 574 546
Q.181. In which month was the difference between number of items of type-1 produced by company M and

Q.182.

Q.183.

Q.184.

Q.185.

number of items of type-2 produced by company-N second lowest?
(1) January (2) February  (3) March (4) April (5) May

What was the average number of items of type-2 produced by all the companies together in the month of
January?

(1) 498.5 (2) 489.5 (3) 469.5 (4) 496.5 (5) None of these
What was the respective ratio between the number of items of type-2 produced by company-M in the
month of may and the number of items of type-1 produced by company- L in the month of march?

49 31 50 43
1) — 2)— 3)— 4) —
()109 ()48 ()109 ()58

Number of item of type-1 produced by company —N in the month April was approximately what
percentage of number of items of type-2 produced by company-M in the month of March?

(1) 145 (2) 150 (3) 140 (4) 160 (5) 154
What was the approximate percent decrease in number of items of type-2 that company —K produced in
the month of June as compared to previous month?

(1) 30 (2) 25 (3) 22 (4) 40 (5) 35

&R0

(5) None of these
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9.186—190.fT=feiRad U &1 &= 9 ufeu iR S9a 91g U 71U gz & SR €I |

.186.

U.187.

9.188.

9.189.

9.190.

©: fafr= aul A 9 fafr= w1 4 e oder 4 Sdivl gy saficary (BoiRl #) @1 dw&r

|D¥TGH . @RIy g OS5y . 3IW|

40 -

30 - —
20 4 —
10 + —
0 - T T

2004 2005 2006 2007 2008 2009
quf

T

SHfiga™t &1 dear (

e g9 2009 H TS P | w¥eT H SedIvl SHEAR] Bl 40 UlRid Afeey & dray 2009 7 X157 P ¥ Aol gy
SHEICaRT &1 AT 3R 99 2007 & ¥ R I URIT § S0 SEICIR] bl AT BT IRT fhd=T 87

(1) 91000 (2) 9.1 o™ (3) 93000 (4) 9.3 oRg (5) 38 ¥ B e
¥ 2008 H IR R YR § Ivl ISR B FEAT IR a9 2004 H I P A wien # ot SHICari af
= @ ¥ e U fhasr 57

(1) 11 : 10 ) 9: 11 B)y11:7 @) 11:9 (5) STH | DI &I
ST Q W ¥ 2004 Td 2005 ¥ HATHR GRIETT | SV SHIGART DI fol AT ¥ 2007 H FHT AT F GRIET A

Jefrof SHCIRT BT el AT BT e+ fbaT ufera 27?

(1) 61 (2) 65 (3) 79 (4) 69 (5) 74

Ty 2006 H THT AT FHABR GRIET H ST IHIGART B ol FAT AR A a8 DI HeATdR 59 P 3 qRler
H 3cfrof SHIGIRI BT ol FAT S dr9 fba1 iR 2°?

(1) 12 o= (2) 11000 @) 1.1 o™ (4) 12000 (5) 3TH & PI &l
¥ 2007 H 59 Q ¥ GRIET H 70T IFNGIRI BT AT H Ul a9 B o1 H ST fhaeT ufrera o &1
3ms?

(1) 45 (2) 55 (3) 50 (4) 60 (5) 30

7.191—195. I AT 7T 418 A1 Bl &9 W Uy MR 39 U & SAX Iy |

CWE/130/2011
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Q.186-190. Study of the following graph carefully to answer the questions that follow:

Q.186.

Q.187.

Q.188.

Q.189.

Q.190.

Number of candidates (in thousands) who qualified in an exam in three
different states in three different states in six different years

| [ state-P M StateQ [JStateR |

BN WHUO N DO
O OO0 0O o0OO0ooo o
P S R

Number of Candidates (in thousands)

2004 2005 2006 2007 2008 2009

Years

If 40 percent of the candidates who qualified in the exam from state P in the year 2009 were females then
what was the sum of number of male candidates who qualified from state- P in the year 2009 and the
number of candidates who qualified in the exam from state-R in the year 20077?

(1) 91,000 (2) 9.1 lacs (3) 93,000 (4) 9.3 lacs (5) None of these

What was the respective ratio between the number of candidates who qualified in the exam from state-R
in the year 2008 and the number of candidates who qualified in the exam from state —P in the year 2004 7?
(1) 11:10 (2) 9:11 (3) 11:7 (4)11:9 (5) None of these

Total number of candidates who qualified in the exam in the year 2004 and 2005 together from state-Q
was approximately what percentage of total number of candidates who qualified in the exam from all
the states together in the year 20077

(1) 61 (2) 65 (3) 79 (4) 69 (5) 74

What was the difference between the total number of candidates who qualified in the exam from all the

states together in the year 2006 and the total number of candidates who qualified in the exam from
state-P over all the years together?

(1) 1.2 lacs (2) 11,000 (3) 1.1 lacs (4) 12,000 (5) None of these

What was approximate percentage decrease in number of candidates who qualified in the exam from
state-Q in year 2007 as compared to the previous year?

(1) 45 (2) 55 (3) 50 (4) 60 (5) 30

Q.191-195. Study the following Pie - Chart carefully to answer these questions.

Monthly expenditure of a boy = Rs. 8500
Percentage of monthly expenditure

Other

expense Travelling
14% 13%
Saving
8% Books
15%

Food

19%
Fees
31% CWE/130/2011

=7y BANKI
& ou



U.191.

U.192.

U.193.
U.194.

U.195.

SPEED & ACCURACY TEST

TSP T T9d BT 75 UfA9IT db H STAT BT 8 | 3T g9 H dcb | YpH OTH HR & 915 39D U fhar=!
I3 99 oI 27

(1) %. 220 (2) %. 160 (3) %. 210 @) =. 170 (5) S & DI &I

I AES B 3T FI BT 20 YRR AESS BIF W, 70 YRR gHUT W 3R Y JUarell &R el 2 a1 a8
gHU IR JuaTell R AR fha 1 @< w=ar &?

(1) . 942 (2) . 940 (3) . 952 (4) . 960 (5) 3T & P &l

AS® B JRIDI AR AIGH R I P AATHR Fol I 3R B R IS I & 419 fhael iR 27
(1) ®. 255 (2) . 260 (3) ®. 275 (4) ®. 250 (5) 379 W Pz el

TASDH BT ATAT, GIADI, BN MR Ao W= e 3iad e feem grar 87

(1) . 165750  (2) . 167550 (3) . 175750 (4) . 177550  (5) T4 & PIg el

TASDH BT AN R &, B W S T BT T fbaet afererd 872

(1) 48 (2) 50 (3) 42 (4) 55 (5) 35

T.196—200. =1 &1 TS RO B €09 W Ufey IR TG I fay T Y+l & IR oy |

B: T AT faal § uig ¢ A AT H3A drel Al (@dsT H) B "

T —
A B C D E
fa
AHAR 4.55 4.38 4.64 7.73 7.68
HTdR 3.54 6.34 6.90 5.82 5.59
EREIN 7.65 2.79 7.23 5.64 6.28
RISSEIN 6.75 8.65 7.83 9.74 8.83
NEEIN 5.78 9.50 8.91 8.16 6.54
IR 3.48 5.39 9.84 9.92 10.9
7.196. WA 3IR AFEAR Bl AATHR ¢ C H T B dTel I BI Hel F&AT 3R AMAR BT ¢ E I ATAT BRe
qret AT BT T ® drE fhdEr iR e
(1) 667 (2) 676 (3) 687 (4) 686 (5) 3T | P &I
U.197.  HIAGAR DI o1 B H I HR dlel AT D1 GAT H {Ueel (& &1 a1 § o foba ufierd gfg 857
(1) 49 2) 52 (3) 59 (4) 53 (5) 45
7198, AMIR ¥ ¥UMEOR & (&8 ¢ § AT B drel AR @ H@n § aR gfg gk 87?
(1) A ) B (B) C 4) D (6) E
7190, Hﬁ{waﬁaﬂCﬁmﬁﬁaﬁ@wmiﬁmﬁmwm@%aﬁﬁmﬁmﬁmﬁzﬁwﬁmﬁw
(1) 567 (2) 546 (3) 576 (4) 564 (5) ST & PIg &I
¥.200. YHAR Bl ¢ C Td E H AT R & ATAT B AT AMAR BT ¢ D H AT BR I8 AT D1 AT BT
ST fobee gfrera 27
(1) 151 (2) 155 (3) 168 (@) 174 (5) 162
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SPEED & ACCURACY TEST

Q.191.

Q.192.

Q.193.

Q.194.

Q.195.

The boy deposits 75 percent of his savings in a bank. What amount is left with him after depositing
money from his savings?

(1) Rs.220 (2) Rs.160 (3) Rs.210 (4) Rs.170 (5) None of these

If 20 percent of other expense of the boy is on mobile phone, 70 percent on smoking and remaining on
gambling, then what is the amount he spends on smoking and gambling together?

(1) Rs.942 (2) Rs.940 (4) Rs.952 (4) Rs.960 (5) None of these

What is the difference between the boy’s total expenditure on books and food together and his
expenditure of fees?

(1) Rs.255 (2) Rs.260 (4) Rs.275 (4) Rs.250 (5) None of these
What is the boy’s average expense on traveling, books, fees and food together?

(1) Rs.1657.50 (2) Rs.1675.50 (4) Rs.1757.50 (4) Rs.1775.5 (5) None of these
Expense of the boy on travelling is approximately what percent of his expense on fees?
(1)48 (2) 50 (3) 42 (4) 55 (5) 35

Q.196-200. Study the following table carefully to answer the questions that follow:

Number of passengers (in hundreds) travelling in five trains on six different days

Train
A B C D E

Day
Monday 4.55 4.38 4.64 7.73 7.68
Tuesday 3.54 6.34 6.90 5.82 5.59
Wednesday 7.65 2.79 7.23 5.64 6.28
Thursday 6.75 8.65 7.83 9.74 8.83
Friday 5.78 9.50 8.91 8.16 6.54
Saturday 3.48 5.39 9.84 9.92 10.9

Q.196.

Q.197.

Q.198.

Q.199.

Q.200.

What is the difference between the total number of passengers travelling in Train —C on Thursday and
Saturday together and the number of passengers traveling in train-E on Saturday?

(1) 667 (2) 676 (3) 687 (4) 686 (5) None of these

What is the approximate percent increase in the number of passengers travelling in Train-B on
Tuesday as compared to the previous day?

(1) 49 (2) 52 (3) 59 (4)53 (5) 45
In which train the number of passengers travelling consistently increases from Monday to Saturday?
(N A (2)B )C (4)D (B)E

If four-eleventh of the number of passengers in Train-C on Friday is travelling without ticket, then what is
the number of passengers’ having tickets?

(1) 567 (2) 546 (3) 576 (4) 564 (5) None of these
Total number of passengers traveling in train C and E together on Thursday is approximately what

percent of the number of passengers traveling in train-D on Saturday?
(1) 151 (2) 155 (3) 168 (4)174 (5) 162
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SPEED & ACCURACY TEST

¥201. oI UWR TR Hied g9M & forg $98 | a1 ganT fwar Sirar 82

(1) Column format %= & (2) goie SR AaRaT (3) <9 format A= ¥

(4) SURIET T (5) STH | PIg &l
¥202. P AT A8 STl YR &Rl &7

(1) RAM (2) CPU (3) UPS (4) Hard Disk ~ (5) 379 & ®Is =18
¥203. AT UH IR ATSC Fell oY af fhad Srer |ara &1 ST &7

(1) RAM (2) ROM (3) PROM (4) EPROM  (5) S & &1 718}
¥204. STl R $El 8l 87

(1) Floppy (2) Dish (3) Tape (4) SWrad T (5) 37 | DIg Azl
7205, A HRRERl § B A wIsel A snavad 27

(1) 10, sys (2) Msdos.sys  (3) command.com (4) SURIgd T (5) 374 ¥ ®Ig el
U206, HeTR HY fordl STl 87

(1) X axis (2) y axis B)asiRyddt @@mdAxay (5)3TH I Bl &l
¥207. Rérs @ 8°

(1) Wies BT THH HRAT (2) =3t BT Yhs HRAl (3) & @ UHA HRAT

(4) 37T A B1g Tl (5) @Ig el
U208, B BHIS SIgIdeN] g9 B HIH Il 27

(1) Chdir (2) Make dir ~  (3) Mkdir (4) SWRIad T4 (5) STH I I el
¥.209. PN AT B BF query B AR el B Adhd e

(1) delete (2) entry (3) modify (4) create table (5) 37H ¥ PIs &l
¥210. 38 ¥ DI A1 SICEA & Haed Tal 87

(1) Table (2) Query (8) Form (4) Macro (5) 3H A ®I3 &I
g211. ISP &7 gof &9 @ 87

(1) Intarnet service provider (2) Internet service provider (3) Internation service provider

(4) Internal service provider (5) 379 | PIg &I
¥212. T8 ¥ BT 99 IISoR 87

(1) Netscape Navigator (2) Windows explorer (3) Outlook express

(4) Google.com (5) STH & BIS &
U213, UBCll HFY[CI IUBRY[ &7

(1) ABACUS  (2) UNTVAC -1 (3) IBM-1400 (4) MARK-Il  (5) 3T & I3 &l
¥214. A gRdE R 2l

(1) R filex () Sfe Afgwd  (3) SOl &idf (@) oz ffer (5) 377 & IS =78
U215. S99 ¥ P9 AT sequential access &7

(1) Floppy disk (2) Magnetic Tape (3) Compact Dist

(4) STRIaT T (5) T & BIg TE
U.216. $9H P9 system tool Tl &7

(1) Bresx (2) S@em (B) ¥+ fewm  (4) e (5) T ¥ P TR
U217. S99 ¥ D9 dHoid Ud 9 F&fa Tal 87

(1) fiex (2) 3T TABIF (3) BT (4) BrETS (5) STH | PIg &l
CWE/130/2011
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SPEED & ACCURACY TEST

TEST -V : COMPUTER APTITUDE

Q.201. What should you use to create newspaper style coloumn -

(1) Column from format menu  (2) Bullet and Numbering (3) Tab from format menu
(4) All of above (5) None of these
Q.202. Which device will provcess data -
(1) RAM (2) CPU (3) UPS (4) Hard Disk  (5) None of these
Q.203. In which data will be erasaed as power is cut off -
(1) RAM (2) ROM (3) PROM (4) EPROM (5) None of these
Q.204. Data can be stored in -
(1) Floppy (2) Dish (3) Tape (4) All of these (5) None of these

Q.205. Which files are most essential in every computer -
(1) 10, sys (2) Msdos.sys (3) command.com (4) All of these(5) None of these
Q.206. Category is written in -

(1) X axis (2) y axis (3) a and y both (4) Either x or y (5) None of these
Q.207. What is record -

(1) Collection of field (2) Collection of number (3) Collection of Rows

(4) All of these (5) None of these
Q.208. Which command is used to create directory -

(1) Chdir (2) Make dir (3) Mkdir (4) All of these (5) None of these
Q.209. Which operation is not permitted to query?

(1) delete (2) entry (3) modify (4) create table (5) None of these
Q.210. Which is not related with databalse?

(1) Table (2) Query (3) Form (4) Macro (5) None of these
Q.211. What is the full form of ISP?

(1) Intarnet service provider (2) Internet service provider (3) Internation service provider

(4) Internal service provider (5) None of these
Q.212. Which is the web browser -

(1) Netscape Navigator (2) Windows explorer (3) Outlook express

(4) Google.com (5) None of these

Q.213. First computing device -

(1) ABACUS  (2) UNTVAC - 1 (3) IBM - 1400 (4) MARK -1l (5) None of these
Q.214. Non impact printer is -

(1) laser printer (2) dot matrix (3) daisy wheel (4) line printer (5) None of these
Q.215. Which one is sequential access?

(1) Floppy disk (2) Magnetic Tape (3) Compact Dist
(4) All of these (5) None of these
Q.216. Which is not system tool -
(1) Folder (2) Back up (3) Scandisk  (4) Format (5) None of these
Q.217. Which is not related with ctrl panel -
(1) printer (2) Run application (3) Form (4) keyboard  (5) None of these
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SPEED & ACCURACY TEST
¥218. SWher T 77

(1) B TRA DI ST= (2) = HAaR (3) U fa=am

(4) 7$ doc. & AT B BT (5) ITH A PIg TE
¥219. URL @ar 87

(1) Uniform Resourse Locator  (2) United Resourse Locator (3) Universal Resources Locator

(4) Long Resourse Location (5) 39 | PIS &I
¥220. LS| &1 @1 aread 8 —

(1) Large Scale integration (2) Large Scale intergrated (3) Long Scale Intergrated

(4) STRITT |qHY (5) 398 A ®Ig &I
Y221, P AT fSAGRT SR B A= & B 31T 82

(1) BCK (2) OCK (3) OMR (4) MICR (5) 38 A ®IS 7TET
Y222, I AT UEH) RS 2

(1) PROM (2) ROM (3) PRAM (4) CPU (5) 3TH A ®Ig &I
U223 ST BRI HERI © Sfgl O ge el Sl 2 ol STel [HI Sofrdl 87

(1) RAM (2) PROM (3) EAPROM  (4) ROM (5) 3TH A ®IS &I
U224, fHaH ST Uh IR H TP A8 SiAelc. Bl 8¢

(1) Interpreter  (2) Translator (3) Compiler  (4) Assembler (5) 374 ¥ @I el
¥225. PIFAI AfST 98 H Il 514 &A1 word @idld &7

(1) SrpTee (2) BT (3) RTITH (@) w=s (5) ST | B &I
U226, UH el # fha faed ... B © |

(1) 8 facw (2) 3 facw @) 1 fae (4) 4 facw (5) 379 W I &
g227. fHad object sql TATT BT B |

(1) Query (2) Form (3) Report (4) Macro (5) 79 & BIS &l
7.228. Excel files &7 a1 SUART BIdT 27

(1) abq® () g@3iie (3) Breehe (4) Breg® (5) 379 & BIS T
¥.229. W HAA BT 9T dIdd 87

(1) ST o r (2) STel & (3) BTFAT 3R <1 (4) SWYad AT (5) T4 H DIs el
¥.230. HIAAT UIC HRISX H &l eIdl?

(1) USB (2) Parallel (3) Com1 /com 2 (4) SWRIaT T4 (5) 378 A BIS T8
¥231. SICT 99 fbd A= # 8IaT 8—

(1) Format (2) Tools (3) File (4) Edit (5) 3H A ®I3 &I
U232,  PHIFAT IUSBRY Hedd H el AT Sl Fhdl 87

(1) Floppy (2) Keyword  (3) Computer  (4) Printer (5) 39H A ®Ig &I
¥233. ST g BT R FINT 27

(1) & STeEl B Folde HAT  (2) fH U 3T Pl IFelde BT

(3) T 3w Helde B (4) =t (5) STH | PIg &l
g234.  wedfie Yo w1 g?

(1) eirew (2) TR 3 ag W (@) SwE W (5) I W B T
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SPEED & ACCURACY TEST

Q.218.

Q.219.

Q.220.

Q.221.

Q.222.

Q.223.

Q.224.

Q.225.

Q.226.

Q.227.

Q.228.

Q.229.

Q.230.

Q.231.

Q.232.

Q.233.

Q.234.

Desktop is as -

(1) Provide workspace (2) Screen Saver (3) Display program

(4) Working with my doc. (5) None of these

URL is -

(1) Uniform Resourse Locator  (2) United Resourse Locator (3) Universal Resources Locator
(4) Long Resourse Location (5) None of these

LSl is -

(1) Large Scale integration (2) Large Scale intergrated (3) Long Scale Intergrated
(4) All of above (5) None of these

Which device is used to verify signature -

(1) BCK (2) OCK (3) OMR (4) MICR (5) None of these

Which one is primary storage -

(1) PROM (2) ROM (3) PRAM (4) CPU (5) None of these

Which memory losses data when power is cut off -

(1) RAM (2) PROM (3) EAPROM (4) ROM (5) None of these

Which program translated one line at a time -

(1) Interpreter (2) Translator (3) Compiler  (4) Assembler (5) None of these
Which setting is applied when word is opened -

(1) Default (2) Formatting (3) Paragraph (4) Standard  (5) None of these
One nibble contain ................. bits.

(1) 8 bits (2) 3 bits (3) 1 hit (4) 4 bits (5) None of these
In which objectsql is used -
(1) Query (2) Form (3) Report (4) Macro (5) None of these

What is the name of excel files -

(1) Work book (2) Worksheet (3) Spreasheet (4) Spread book (5) None of these
What is the purpose of query -

(1) Input data  (2) Output data (3) Sort and filter(4) All of above (5) None of these
Which part doen't exist in computer -

(1) USB (2) Parallel (3) Com1 /com 2 (4) All of these (5) None of these
Database utility exist in ................... menu.
(1) Format (2) Tools (3) File (4) Edit (5) None of these

Which device cann't shared in Network -

(1) Floppy (2) Keyword (3) Computer (4) Printer (5) None of these

What is the function of Radio button -

(1) To select multiple options (2) To select single option among
(3) To select all options (4) All of above (5) None of these

Which is a spreadsheet package -

(1) lotus (2) excel (3) quattro pro (4) All of above (5) None of these
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SPEED & ACCURACY TEST

¥.235. Excel # 3 UM H $IF Al WEhe ‘Foll' BT YANT fbar S 2?
(1) Ctrl + 9 (2) Ctrl + 9 (3) Shift +f9  (4) Ctrl + Shift + 9 (5) 378 | ®Ig &
g236. Rursfee fa9 wraam v=anT gar 87

(1) feeile @ T BISal BT @1 (2) SHRY BISA BT &1 (3) TR B WISA BT I

(4) Sfrpiic BIEd BT @] (5) ST | BIg &I
U237, JRRHE B ACHE B T 57

(1) Ctrl + = (2) Ctrl ++ (3) Ctrl+shift+= (4) ctrl+shift++ (5) S9H & ®I$ 7T&l
¥.238. Excel g&gad ¥ fa- oie grcfl 27

(1)3 ()37 e (3)2 (4) 1 (5) 38 A BIg &I
¥239. ZH BT Dos @ SeHdl HHIS el 8°

(1) DIR (2) EDIT (3)CD (4) CLS (5) 34 & BIg Al
¥.240. ST & B9 word # summary status &1 g BT B oI SUYAE &1 27

(1) Summary info (2) summary information (3) Summary

(4) Sum (5) SH & @I el
Y241, 378 ¥ ®9T A= drop down list HEeITdl &2

(1) list (2) combo list  (3) Textbox ~ (4) SWRiad 1 (5) 38 A BIg &
Y242, 38 ¥ fhd Operating System ¥ 39 \a BT BIsA =H URT 87

(1) Ps/2 (2) Dos (8) Windows NT (4) Window (5) 3TH A ®IS 7TEl

U.243. BT MS - Word &T oic¥e aoid &8¢
(1) Word xp.  (2) Windows xp. (3) Word 2007 (4) Word 2010 (5) S ¥ &g &l
Y244, HIeSR BT T B &7

(1) B8 BT q AT (2) BISA BT Slefic BHAT (3) BISA B TR HIAT
(4) BT BT BTUT BRAT (6) s W BIg &
U.245. 30T HFICY Pl FSIC H DY et ?
(1) 1% HFICX ST3T STTANY AedfehT (2) ®werer Ut
(3) Wcad aRgS (4) SURTET A (5) ST | P &I
U246, SifoReX b SIMRSE H YT BIAT oT?
(11 (2) 2 (3)3 (4)4 (5) 3 & g &l

U.247. Access ¥ THR 9 doRI Wiid o7
(1) sffer @R~ (2) 3iTer swiic  (3) 3ifel e (4) affer 9IS (5) S8 & PIg &l
U248, dDHYT Bl 3 87

(1) P*ER ~ead H (2) SfITTA SYART B ATl (3) SAfIITa HFger
(4) ST el (5) I | B 7E
U.249. ST & DY WANT BIal =7
(1) show chapter wisewading  (2) show wading (3) show content
(4) =y (5) 3% A BIg T
¥250. BT ST TIST access H &l BIdT?
(1) TR (2) e (3) 7 (4) T () 37 & I Tl
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SPEED & ACCURACY TEST

Q.235.

Q.236.

Q.237.

Q.238.

Q.239.

Q.240.

Q.241.

Q.242.

Q.243.

Q.244.

Q.245.

Q.246.

Q.247.

Q.248.

Q.249.

Q.250.

What is the shortcut key to hide row in excel?
(1) Ctrl +9 (2) Ctrl+f9  (3) Shift + f9  (4) Ctrl + Shift + 9 (5) None of these
What is the function of Recycle bin -

(1) Store deleted file (2) Store temporary file (3) Store corrupted

(4) Store documet file (5) None of these

What is the shortcut key of superscipt -

(1) Ctrl + = (2) Ctrl ++ (3) Ctrl+shift+= (4) ctri+shift++ (5) None of these
How many sheets are there in excel workbook by default -

(13 (2) more than 3 (3)2 (41 (5) None of these
Which command is not an internal command of Dos?

(1) DIR (2) EDIT (3)CD (4) CLS (5) None of these

Which will be the title in word to save summary status -

(1) Summary info (2) summary. information (3) Summary

(4) Sum (5) None of these

Which of the following control is know azs drop down list -

(1) list (2) combo list (3) Text box (4) All of these (5) None of these

In which operating system can you give the smallest file name?

(1) Ps/2 (2) Dos (3) Windows NT (4) Window (5) None of these

Which is the latest version of MS - Word?

(1) Word xp.  (2) Windows xp. (3) Word 2007 (4) Word 2010 (5) None of these
What is the function of folder -

(1) Move file (2) Delete files (3) Store files (4) Copy files (5) None of these
How do you connect internet to your computer?

(1) My computer >> dailup networking (2) Ctrl panel

(3) Network Neighborhood (4) All of above

(5) None of these

In which generation transistor were used -

(M1 (2) 2 (3)3 (4) 4 (5) None of these
Number increment is done in access?

(1) Auto number (2) Auto increment (3) Auto card

(4) Auto increase (5) None of these

Workgroup means -

(1) Computer in network (2) Individual user (3) Individual computer
(4) All of the above (5) None of these

OUtline view is used -

(1) show chapter wisewading (2) show wading (3) show content
(4) All of above (5) None of these

Which data type does not exist in access -

(1) Number  (2) Picture (3) Memo (4) Text (5) None of tehse

CWE/130/2011
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ANSWER KEY WITH EXPLANATION /CWE/129/2011

Q.1. (5) uncharted
Q.2. (1) downturn
Q.3. (2) pumping
Q.4. (1) mired

Q.5. (3) debt

Q.6. (3) trouble
Q.7. (4) inflation
Q.8. (2) overstated
Q.9. (5) confidence
Q.10. (4) access
Q.11. (2) Payment on weekly basis

Q.12. (3) the positive aspects of MFIs should also be
considered

Q.13. (1) they brought services to the door of people

Q.14. (4) MFIs adopted a structure and put a process in
place, which was not the case with moneylenders

Q.15. (2) it highlighted some areas of customer protection

Q.16. (4) Customer, satisfaction irrespective of ‘Not-for profit’
of ‘for-profit’ MFls

Q.17. (5) To grow very fast

Q.18. (4) MFIs should also inform public about their own
performance also

Q.19. (2) To protect the customer from harassment and
coercion

Q.20. (4) The meaning of the word Manage (Verb) as used in
the passage is : to be able to deal with something : to
succeed in doing something afford.

Q.21. (2) The meaning of the word Exact (Verb) as used in
the passage is : to demand and get something from
somebody; to make something bad happen to
somebody.

Look at the sentence
He was determined to exact a promise from her.

Q.22. (4) The meaning of the word Scuttle (Verb) as used in
the passage : to deliberately cause something to
fail; destroy; foil.

Look at the sentence
Shareholders successfully scuttled the deal.

Q.23. (5) The meaning of the word Spur (Verb) as used in the
passage is : to encourage somebody to do
something : prompt.

Look at the sentence
| was spurred into action by the letter.

Q.24. (3) The meaning of the word Under rein (Noun) as
used in the passage is : the state of being in control.
Its antonym should be let loose.

Q.25. (1) The meaning of the word Coercive (Adjective) as
used in the passage is : using force or the threat of
force.

Hence, its antonym should be gentle.
Q.26. (2) C
CWE/130/2011
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Q.27. (4) E

Q.28. (5) F

Q.29.(3)D

Q.30.(2)B

Q31. (1A

Q.32.(3)C

Q.33. (3) Either Aor E

Q.34.(2)B

Q.35.(4)D

Q.36. (1) Here, alliance

Q.37. (4) Here, viable for

Q.38. (4) Here, to its fold

Q.39. (4) Here, to its fold

Q.40. (3) Here, one in which

Q.41.(3)

Q42.(1)

Q.43.(4)

Q.44.(2)

Q.45.(3)

Q.46.(5)

Q.47.(3)

Q.48.(2)

Q.49.(5)

Q.50.(1) Picture — (an idea of) a situation

Q.51. (4) Only (A) and (C)

Q.52. (3) Being the largest source of emphloyment in the
country, agriculture and allied activites is a source of

livelihood for over two third of the population in
country.

Q.53. (4) All (A), (B) & (C)

Q.54. (3) 18 percent

Q.55. (4) India is the 10th largest producer of medicinal and
aromatic plants. But the products are not of
commercial value

Q.56. (5) M,G,N,R,E,G,A. : Mahatma Gandhi National Rural
Employment Guarantee Act.

Q.57. (5) Money Lenders

Q.58. (5) The South Assian Free Trade Agreement (SAFTA)
was introduced in 2005 with a view of levying zero
custom duty for trading any product by the year
2012.

Q.59. (2) N,A,B,A,R,D. : National Bank for A%iculture and
Rural Development was started on 12" July, 1982.
It's head office is in Mumbai.

Q.60. (1) Only (A)

Q.61. (5) The demand for anything at a given price is the
amount of it which will be bought per unit of time at
that price.

Q.62. (4) Except ‘barter system’ all other terms are used in
the field of science.

should be used.
should be used.
-should be used.
should be used
-should be used.
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Q.63. (3) World Bank

Q.64. (4) Preparation of annual budget of the country and
collection of taxes to raise capital for the
implementation of the plans

Q.65. (5) 1951-56

Q.66. (1) Public Interest Litigation (PIL)

Q.67. (1) Panchsheel

Q.68. (4) village Grain Bank Scheme

Q.69. (5) Only (A) & (B)

Q.70. (2) Only (B)

Q.71. (3) Rs 100

Q.72. (2) Luiz Inacio Lula D’silva is former President of Brazil.

Q.73. (4) ‘ADHAR’ is a unique Indentification card which was
started by Prime Minister Dr. Manmohan Singh and
UPA President Sonia Gandhi from Tembhli Village
in Maharashtra on 29 September, 2010.

Q.74. (1) per day

Q.75. (2) Russia — India — China
Q.76. (4) Wheat

Q.77. (5) Sri Lanka

Q.2. (5) The Government of India Launched ‘Rajiv. Gandhi
Ki§noree Adhikarita Scheme’ for adolescent girls on
19" November, 2010

Q.79. (1) On the recommendations of second working group
of money supply, RBI started a new estimation for
money, including with four components M1, M2, M3
and My

M3 = Circulation of money in people + Total deposits
in banks + Other deposits in Reserve Bank of India.

Q.80. (1) Right to Education (RTE) came into effect on April 1,
2010. Making elementary education an entilement
for children in the 6-14 age group, the Right of
Children to Free and Compulsory Education Act,
2009 will directly benefit close to one crore children
who do not go to school at present.

Q.81. (4) Taking loans / credit from World Bank / IMF and
ADB etc. and reallocating it for various activities are
decided by the Government of India

Q.82. (1) Regional offices of RBI : Srinagar, Jammu, Shimla,

Chandigarh, New Delhi, Dehradun, Jaipur,
Lucknow, Gangtok, Guwahati, Patna, Kanpur,

Ahmedabad, Bhopal, Ranchi, Kolkata, Raipur,
Nagpur, Belapuir, Mumbai, Hyderabad,
Bhudaneswar, Paniji, Chennai, Kochi,

Thiruvananthapuram, Bengluru.
Q.83. (2) World Bank

Q.84. (3) India’s exports are projected to grow by about 22
percent to $ 216 billion in the year 2010-11.

Q.85. (1) UNCTAD : The United Nations Conference on
Trade and Development.

Q.86. (4) Oil and Petroleum

Q.87. (5) Robert G. Edwards is a Nobel Prize winner in the
field of medicine.

=7y BANKI
& ou

Q.88. (3) Risk management

Q.39. (4) According to the United Nations Human
Development Report, released on November 4,
2010, eight Indian States are home to 421 million
poor people, more than the figure of 410 million in 26
poorest African countries.

Q.90. (3) Only (A) & (B)

Q.91. (1) ‘PIIGS’ refer to the five Eurozone:nations, which
were considered weaker economically following the
financial crisis. These nations are : Portugal, Italy,
Ireland, Greece and Spain.

Q.92. (5) All (A), (B) & (C)

Q.93. (3) Pulses

Q.94. (1) Thorium

Q.95. (1) The project aimed at improving the safety and
operational performance of selected structures will
cover dams, barrage and regulators, totaling 19 of
the Irrigation Development and 12 projects of the
Kerala state Electricity Board.

Q.96. (4) 206

Q.97. (5) Amartya Sen

Q.98. (1) Line of Sight

Q.99. (2) Richard Dawkings : is a British ethnologist and
evolutionary biologist.

Alan Greenspan : is an American economist who
served as Chairman of the Federal Reserve of the
United States from 1987 to 2006.

Vernon Heywood : is a renowned British biologist.
His main fields of excellence are medicinal and
aromatic plants, and the conservation of wild
relatives of plants.
Olivar Sachs : is a British neurologist residing in
New York city.
Stephan Howking : is an English theoretical
physicist and cosmologist, whose scientific books
and public appearances have made him an
academic celebrity.

Q.100. (5) Usha Thorat is a former Deputy —Governor of
Reserve Bank of India.

Q.101. (4 PLANET

NETPLA
LMNOP
Q.102. 5)WORTHY
HORTWY
Q.103. (2) 18511915 14
REASO N

Q.104. (2) Pen is used to write something. Similarly,
stitching is done by needle.

12345678910

CONFLICTED
Meaningful words = NOTE, TONE

Q.106. () P=A<R<M=P<M

Q.107. (2) Kevin's rank from the top

Q.105. (1)
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=16 +7 =23rd
Kevin's rank from the bottom
= 42-23+1=20th

Q.108. (4) L—=2 5sB—" T
S—2 5P 5A
| —2 55— F
P—251—5D
B—2> M—>S
Q.109. (4) C—25R A—25D
T—25Q —2 >F
Similarly,
S—2 A
P—2 |
Q.110. (3)

C +1 L +2 T +3 S +4 D
R +2 B +3 I\v/! +4 ! +5 G
Q.111. (5)
Q.112. (4) From statement |

According to Amita, Priya is travelling on
Wednesday, Thursday or Friday.
According to Rohit, Priya is travelling on
Wednesday, Thursday or Friday.

According to Rohit, Priya is travelling on Tuesday,
Wednesday or Thursday.

From both the statements
Priya is travelling on Wednesday or Thursday.

Q.113. (4) From both the statements A is the daughter of
Kand M.

P is the grandfather of grandmother of A.
Q.114. (5) From both the statements
Monday b Crash
Tuesday b Ice Age / Notting Hill
Wednesday b Ice Age / Notting Hill
Thursday b Social Network
Q.115. (4) From both the statements

Shraddh
a

Vilma /
Ayesha

Vilma /
Ayesha

Tania

Q.116-120. After careful analysis of the given input and
various steps of arrangement it is evident that in
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each step one word and one number are
rearranged. The words are rearranged from the left
in alphabetical order but in reverse or der while the
numbers are rearranged in descending order from
the right.

Q.116-117.
Input : always 19 give 21 84 for 62 14 worthy cause
Step | : worthy always 19 give 21 for 62 14 cause 84
Step Il : worthy give always 19 21 for 14 cause 62 84
Step lll:worthy give for always 1914 cause 21 62 84
Step IV:worthy give for cause always 14 1921 62 84
Q.116. (4) Option (4) is the Step III.

Q.117. (3) Four steps are needed to complete the
arrangement.

Q.118-120.
Input 50 62 tips on 67 how can 42 stay

young 17 89 for ever 03

Step | : young 50 62 tips on 67 how can
42 stay 17 forever 03 89

Step Il : young tips 50 62 how can 42stay
17 forever 0367 89

Step Il : young tips stay 50 on how can 42
17 forever 03 62 67 89

Step IV : young tips stay on how can 42 17
forever 03 50 62 67 89

Step V : young tips stay on how for ever
can 17 03 42 50 62 67 89

Step VI : young tips stay on how forever

can 03 17 42 50 62 67 89

Q.118. (1) it is Step IlI.

Q.119. (2) 42 is at the fifth position form the right end in Step
\Y

Q.120. (1) Option (1) is the last step.
Q.121. 125. Sitting arrangement

Supervisor
N M

Doctor Accountant
L
R .
Shopkeepe Pa::ter
Cricketer
O s
Reporter
T
Teacher

Q.121. (1) O is the reporter.
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Q.122. (1) S is third to the right of R.
Q.123. (4) Four persons - R, O, T and S.

Q.124. (5) Shopkeeper and Doctor
neighbours.

Q.125. (3) The doctor is sitting exactly between the
Supervisor and Shopkeeper.

Q.126-130.

Q.126. (2) please = ke

Q.127. (1) so = hope

Q.128. (3) party = fi / zo

Q.129. (1) please = ke; see = na; you = re

Q.130. (5) so = hope; di = to;

Q.131. (5) Clearly, both the courses of action are suitable for
pursuing.

Q.132. (2) Only course of action Il is suitable for prusuing.

Q.133. (1) Only course of action | seems to be suitable.

Q.134. (5) Clearly both the courses of action are suitable for
pursuing.

Q.135. (1) Only courses of action | seems to be suitable
Q.136-140.

are immediate

Friend Specialisation Sport
Deepak . Football
Electical i
varun Tennis
i Hardware Wi
Amit Swimming
i Metallurgy )
Nilesh o Badminton
Telecommunication
. software
Rajesh . Hockey
) Mechanical '
Siddharth Cricket

Q.136. (3) Varun is studying Hardware.

Q.137. (1) Deepak likes Football.

Q.138. (3) The combination Anit - Metallurgy is correct.
Q.139-140.

Amit Deepak Nilesh Rajesh Siddharth Varun

I A

Q.139. (5) Deepak is studying Electrical.
Anit is to the imediate left of Deepak. Anit is
studying Metallurgy and likes Swimming.

Q.140. (5) Immediate neibhours of Rajesh are Nilesh and
Siddharth. Nilesh likes Bandminton and Siddharth
likes Cricket.
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Q.141-143.
E<D<A
10 20 30
B<F
50 60
E — 10 Minutes
D — 20 Minutes
A — 30 Minutes
C — 40 Minutes
B — 50 Minutes
F — 60 Minutes
Q.141. (3) C takes 40 Minutes.
Q.142. (4) F takes maximum time.
Q.143. (1) Four persons.
Q.144. (4) None of the assumptions is implicit.
Q.145. (5) Both the assumptions-are implicit in the
statement.

Q.146. (4) Figure rotates inoanti ] cIo%}(wise direction through
angles of 457,907, 457,90, ....... and so on, and
every time one line is deleted from the figure.

Q.147. (5) Problem figure (5) is same as figure (1). Hence,
answer figure will be same as figure (2).

Q.148. (1) Figure (5) is ob@ined by rotating figure (3) through
an angle of 90" in clockwise direction. Hence,
answer figure will be oBtained by rotating figure (4)
through an angle of 90".

Q.149. (b) Inner figure is same for the pairs of problem figures
(1) and (4), (2) and (5). Therefore, it will be same for
figure (3) and the answer figure. Main figure in figure
(5) is same as figure (3). Therefore, it will be same in
the answer figure as in figure (2).

Q.150. (4) Figure (5) is same as figure (1), hence answer
figure will be same as figure (2).

Q.151. (2) [?-45]=40=?-45=+40
?=45+400r45-40
=850r5

Q.152. (4) [((3)2)6}4 —o
- (96)4 — 9? [: (am)n - amn
- 96*4 - 9?

=>7?76x4=24
Q.153. (4) ? =4289 =17 x17 =+ 17

(3]

, 2
154, (3) (4)’
Q ()()"100

=512

= (4)"x ?=51.2x 100 = 5120
= @) x?=4x4x4%x4%x4x%5
=(4)x5
?=5
Q.155. (4) =4/1296
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=4/6 x6 x6 x6 =6

Q.156. (3) The pattern of the number series :
4x05+1=2+11=3
3x1+15=3+15=45
45x15+2=6.75+2
=8.75" 85
875%x2+25=175+25=20
20x25+3=50+3=53

Q.157. (2) The pattern of the number series is :

12000 = 5 -5 =2400 - 5 = 2395
2395+5-5=479-5

=474 = 472

474 +5-5=94.8-5=89.8
89.8+5-5=17.96-5=12.96

Q.158. (5) The pattern of the number series is :

1x1+7x1=1+7=8
8x2+6%x2=16+12=28
28x3+5x3=84+15=99
99 x4+4x4=396+16=412
412 x5+ 3 x 5=2060 + 15

= 2075
2075x6+2x6=12450 + 12
= 12462 = 12460

Q.159. (1) The pattern of the number series is :

144 x 1.5=216= 215
216 x 2.5 =540

540 x 3.5 =1890
1890 x 4.5 = 8505
8505 x 5.5 = 46777.5

Q.160. (5) The pattern of the number series is :

2222 - 7% =2222 - 343 = 1879
1879 - 6° = 1879 - 216 = 1663
1663 - 5° = 1663 - 125 = 1538
1538 - 4° = 1538 - 64 = 1474
1474 - 3% = 1474 - 27 = 1447
1447 - 2° = 1447 - 8
=1439 = 1440

Q.161. (4) Original number of boys in the college = 31x

Original number of girls = 23x
3x 124
23x+75 107
= 2852x + 9300 = 3317x
= 3317x - 2852x = 9300
= 465x = 9300
_9300 0
465
Number of boys = 31 x 20
=620
New number of girls
=23 x20+75=535
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Required answer
=620 -535=285

Q.162. (1) If the principal be Rs. P, then

.
Cl=P (‘I+ij -1
100
2
= 2862=P (1+£) -1
100

2
2862 =P Kig) —1}
. 2862=P= (178‘:3;5625)

= 2862 =P x 153
625

_ 2862 x625
159

= Rs. 11250

Q.163. (5) When a train crosses a plat form it covers a

distance equal to the sum of lengths of platform
and train.

Let the length of platform be x metre.

Speed of train
x +280 280
= =——=14
60 20
= x + 280 =60 x 14 = 840
x = 840 - 280 = 560 metre

Q.164. (4) If the angle be 30°, then according to ratio,

Second angle = 60°

Third angle = 180° - 60° - 30° 90°

If the given ratio be of two other angles, then
x + 2x = 180° - 30° = 150°

= 3x =150 = x = 50°

Second angle = 2 x 50 = 100°

Hence, the largest angle

=90° or 100°

Q.165.(1) Case |,

Four empty can be filed by 2, 7, and 4 is ! i.e. 4 x

3 x2x1=24 ways.

Case ll

Number of arrangements = 24
Required number of arrangements = 24 + 24 = 48

Q.166. (5) Total number of marbles in the urn = 15

P (S) = Total possible outcomes
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= Selection of 2 marbles at random out of 15

marbles

= 15, = 15x14

X

=105

P (E) = Favourable outcomes = Seection fo 2

marbles out of 2 green marbles = 2Cy=1
Required probability
PE) 1
P(S) 105
Q.167. (3) P (S) = 15¢3
_15x14x13
T 1x2x3

=455

P (E) = Selection of 2 marbles out of 6 blue
marbles and that of one marble out of 4 yellow

marbles
=602x401 =6><5
X
Required probability
_P(E)_60 12
P(S) 455 91
Q.168. (2) P(S) = "°C,
_ 15x14 x13 x12
1x2 x3 x4

Let no yellow marble is selected. out of 11
marbles

x4 =60

=1365

=11g, = 11><'IO><9><8_330
1x2 x3 x4

Required probability
_ 4. 330
1365
22 91-22 69
91 91 91
Q.169. (2) P (S) = 15(:2—105

P (E)="°C, + °Cy

_ 3x2 14
1x2

=1 -

Required probability = %

Q.170. (3) P(S) = "°C, = 1365
P(E) = °C4 x 5C, x °C4

=2x15x%x3=90
Required probability = @
P(S)
_ 9% _6
1365 91

Q.171. (4) From both the statements,
Number = 53 or 35

Q.172. (5) From statements | and Il,
0+5=5
5+0=5
604=6+4=10

=7 BANKIM
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Q.173. (1) From statement I,
Total time = 6 hours
The work was completed at 3
p.m.
Q.174. (3) From statements II,
Salary received in each paycheque

=Rs. (618000j = Rs. 25750

We get answer also from statement II.
Q.175. (5) From both the statements,
if x>84,theny>2
x+y>85
Q.176. (5) Number of employees in marketing department

= 3250 x792 =715
360

Number of men = 715 x g

=429
Q.177. (3) Number of women working in HR department
_ 3250 x36 13
—x— =169
360 25
Number of men in IT department
=3250>< 6 x ! =364
360 10
Required ratio = 169 : 364
=13:28
Q.178. (5) Number of employees in production
department

=3250  136.8=1235
60

Number of men

= 1235X%=988

Required percentage

- 988 x100 =80
1235

Quicker Approach
From the given ratio.
Required percentage

=i><100=80
5

Q.179. (2) Number of women in IT department
- 3250 x576 x S =156
360 10
Required percentage
= 156 x100 =48
3250
Q.180. (2) Number of men is accounts department
_504 ><3250 6
—_ =210
360 13
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Number of men in HR department 32561x18
Year 2007 = ————— =5861
_3250x36 12 _ ., A= 00
360 25 Q.189. (1) It is obvious from the table
Required number of men Q.190. (3) Total number of defaulters of bank T in years
=429 + 364 + 988 + 210 + 156 = 2147 2007 and 2008
Q.181. (4) 1. X%+ 5x + 6 =0 =36152><19+35463><8
=>x2 +2x+3x+6=0 100 100
SX(X+2)+3(x+2)=0 = 6869 + 6383 = 13252
= (x+3)(x+2)=0 Required answer = 13250
= - Q.191-195.
x=-3or-2 o 72x100,) _
lLy"+3y+2=0 Q.191. (5) Reqd. % = ——— % = 40%

180
Q.192. (1) Total no. of students learning
Martial Arts = 36 + 54 = 90
Q.193. (5) No. of girls enrolled in only
Cooking classes = 468
Q.194. (1) No. of boys who learn Singing
=480 - (40 + 54 + 160) = 226
Q.195. (3) Reqd. ratio

=y +2y+y+2=0
=>y(y+2)+1(y+2)=0
=>((y+1)(y+2)=0
y=-1or-2
X<y

Q.182. (2) I. X* - 10x + 24 =0
= x2-6x-4x+24=0

=X (x-6)-4(x-6)=0 _312-160 152 _ .
= (x-4) (x-6)=0 "6 te0 0%
x=4or6 Q.196-200.
1;?2:2??42::200 o Q196. (5)  Average distance = 17695 = 299%
=Y(y-5)-4(y-5)=0 Q197. (3)  Speed = 222 = 37.75 km/hr
= (y-4)(y-5)=0 s
y=4or5 Q.198. (4) Time = 240 =12 hours 30 minute
>y 192
Q.183. (5) . X2 = 961 Q.199. (4) Iéggth%%%ual speed of both the trucks = x
X =+ 981 = + 31 ST = 1541159
Il.y= V961= + 31 Q200. (2)  Total distance = 1632 km
Q.184. (2) I. X x -712=0 Q.201.(2) Q.202.(1) Q.203.(1)
=X - 9x + 8x STSE Q.204.(2) Q.205.(4) Q.206.(3)
=X (x-9) + 5 (S Q.207.(2) Q.208.(4) Q.209.(3)
= (x*8)(x-9)=0 Q.210.(1) Q.211.(5) Q.212.(4)
x=-8or3 Q.213.(3) Q.214.(4) Q.215.(4)
II.y* = 64 Q.216.(2) Q.217.(1) Q.218.(1)
== Vo4 -8 Q.219.(2) Q.220.(4) Q.221.(3)
Q.185. (5) I. x* = 463 + 321 = 784 Q.222.(2) Q.223.(4) Q.224.(3)
X = ZJW =+28 Q.225.(1) Q.226.(1) Q.227.(1)
II. y* = 308 + 421 = 729 Q.228.(4) Q.229.(3) Q.230.(4)
y= «/@ =+27 Q.231.(2) Q.232.(2) Q.233.(2)
Q.186. (2) I;{ggggidz?umber of defaulters Q.234.(1) Q.235.(3) Q.236.(2)
e s ame oo
Q.187. (1) Required difference Q.243.(4) Q.244.(2) Q.245.(3)
- 26?‘(‘; X9 _ 27‘:2% <8 Q.246.(2) Q.247.(4) Q.248.(2)
Q.249.(3) Q.250.(1)

=2371-2196 = 175
Q.128. (3) it is obvious from the table.
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